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u+ ay ⇀f x1 �g1
h2

x2 �g2
h3

· · · �gn−1

hn
xn �gn

hy
(a+ b) y ⇀gy ϕ

�d1 �d2 �dn

ϕ ϕ ϕ

! / %

*���� ����*� ���	��� � �������� ����
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��	 �� bj ������ �� �������� ������� Yj� 1 ≤ j ≤ m �
 ��
� k

*��� �� ��	�
�� ��

a1X1 + · · ·+ anXn ⇀
k b1Y1 + · · ·+ bmYm. ! /�%
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k = α[X1]
a1 · [X2]

a2 · . . . · [Xn]
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C0[X]

k0 + [X]
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��
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 X = {X1, X2, . . . , Xm} �� � ��
 �� �������� ������� �	� R = {R1, R2, . . . , Rn} �

��
 �� �������� ����
��	� 
��
 �	)��)�� ������� X � *�
� ��������	��	� ����
��	 ��
��

{v1, v2, . . . , vn}/ ��� )��
�� v = [v1, v2, . . . , vn]
T �� +	�*	 �� 
�� 
��	���� 
��� ��	��
 

��� m× n ��
��, S *���� �	
�� si,j �� 
�� 	�
 ���	M���� �� ������� Xi *��	 ����
��	

Rj �����	�� �� ������ 
�� ����	������
� ���
�! ��� 
�� ��
 �� ����
��	� R �	 �������

X / ���	 ��� X := [X1, X2, . . . , Xm]T !�/�/� 
�� )��
�� �� 
�� ��	��	
��
��	� �� 
��

������� X �	 
�� ���
��%�
d

dt
X = Sv

01����� �.�/ "�� X = {X1, X2, X3, X4} � R = {R1, R2, R3} ����

R1 : 2X1 +X2 ⇀ X3 +X2

R2 : X3 ⇀ X4

R3 : X4 ⇀ X3

��� 	�

��������� 
��	���� 
��� ��	��
 ����� �� v(X) = [α1X
2
1X2, α2X3, α3X4]

T
 ���

��� ����#���� �� ��� 	����	�� ���	��� �
�� ��� 
��	���� R �� ����� �� ��� ��������� �����

R1 R2 R3

X1 −2 0 0

X2 0 0 0

X3 1 −1 1

X4 0 1 −1
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��� ���
���
� ��� ����	������
� ���
�! ��

S =

⎡
⎢⎢⎢⎢⎢⎢⎣

−2 0 0

0 0 0

1 −1 1

0 1 −1

⎤
⎥⎥⎥⎥⎥⎥⎦
.

$����%�������

d
dt

⎡
⎢⎢⎢⎢⎢⎢⎣

X1

X2

X3

X4

⎤
⎥⎥⎥⎥⎥⎥⎦

=

⎡
⎢⎢⎢⎢⎢⎢⎣

−2 0 0

0 0 0

1 −1 1

0 1 −1

⎤
⎥⎥⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎣
α1X

2
1X2

α2X3

α3X4

⎤
⎥⎥⎥⎦ .
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ẋ1 = f(y) + h2(x2) − g1(x1) − d1(x1)

ẋ2 = g1(x1) + h3(x3) − g2(x2) − h2(x2) − d2(x2)
///

///
///

ẋn−1 = gn−2(xn−2) + hn(xn) − gn−1(xn−1) − hn−1(xn−1) − dn(xn−1)

ẋn = gn−1(xn−1) + hy(y) − gn(xn) − hn(xn) − dn(xn)

ẏ = (a+ b) gn(xn) − af(y) − 2hy(y) − gy(y),
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Chapters 2 and 3

Chapter 4

Chapter 5
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��� ��
�� 
�� �
���
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� ����� �	 F$G �� ��)�	 ��

ẋ1 = 2Ṽ2
y

1+ 1

K
q
i
yq − k̃3x1 − k̃8x1

ẋ2 = k̃3x1 − k4x2z

ẏ = 2k4x2z − 2Ṽ2
y

1+ 1

K
q
i
yq − (k6 + k̃7)y,

*���� x1 �� 
�� trioseP ��	��	
��
��	� x2 
�� BPG ��	��	
��
��	� z 
�� ADP ��	-

��	
��
��	� y 
�� ATP ��	��	
��
��	� 
�� ������
�� )����� ��� Ṽ2 = 67.7116, q =

2.64, Ki = 1.24464� k̃3 = 6.65022, k4 = 126519, k6 = 3.2, k̃7 = 9.65602, k̃8 =

0.617780� �	� y+z �� ������� 
� �� ��	�
�	
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 x2 ��� ���� ���
�� ��-

	����� ��	�� 
�� ����
��	 ��
� k4 �� ��)���� ������ �� ���	�
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 k̃3x1 − k4x2z �	�

ẋ1 = 135.4232y
1+0.56116y2.64 − 7.268x1

ẏ = 13.30044x1 − 135.4232y
1+0.56116y2.64 − 12.85602y,

!�/B%

*���� �� �,��
�� !�/@% *�
� V = 135.4232, q = 1, h = 2.64, γ = 0.56116, a = 1, b =

0.83 �	� gx(x) = 7.268x, gy(y) = 12.85602y/ "� 
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��� �� �����
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�� �������-


��	�/ 1��
 �� 
���� �,������	
� �	 �������
�� �������
��	� ��� ��������� �	 ����
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�� �����/ ���
�������� ���
��	�� �������
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��	� �� 
�� �� ����� *�
� h = 5, q = 1, γ = 2, a = b =
1, gx(x) = x �	� gy(y) = kyy ���* �������
��	� �	 "�
 ��	��	
��
��	/ "% �	�����
�������
��	� �� )����	� ������� �)��������
� !ky = 1� V = 2, 2.5, 3, 5%/ '% �	�����
�������
��	� �� )����	� "�
 ��	����
��	 ��
� !V = 3� ky = 0.3, 0.6, 1, 1.55%/ ����
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 �� �	
����
 �
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�� ���� �����
�� �� ȳ = 1/ 8�
 gy(1) = ry�

∂
∂y
gy(y)|y=1 = ky �	� ∂

∂x
gx(x)|x=x̄ = kx/ ���� ������� V = ry(1 + γ)/b� �	� 
��

��	����(�
��	 �� !�/@% ����	� 
��� ���	
 �� ����������� ��

⎡
⎣ ẋ

ẏ

⎤
⎦ =

⎡
⎣ −kx 1
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ry(q − ĥ)

(b+ a)kx −a
b
ry(q − ĥ) − ky

⎤
⎦
⎡
⎣ x

y

⎤
⎦ !�/>%

*���� ĥ = γ
γ+1

h/
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�� !�/>% �� 
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� ĥ �� 
�� �������+ ���	 !������ �/@"/% �	 �
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��� ����
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ẋ = Ax +Bu

z = Cx !�/C%
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⎦
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ĥ < q − ky

ry
4�����
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P (s) = C (sI − A)−1B

= ry
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s
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qry)s+kxky−kxryq
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�� ��
�*�� �� 
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⎤
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⎡
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1

π

∫ ∞

0

ln |S(jω)| 2z

z2 + ω2
dω = M ≥ 0 !�/$%

*���� M = ln | z+p
z−p̄ | > 0 �� 
�� ���	-���� ���	
 ��� � �0
 ���� p� �	� M = 0
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� ����� s0 = σ0 + jω0 ���� σ0 > 0�

log |Smp(s0)| =
1

π
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log |S(s0)| σ0

σ2
0 + (ω − ω0)

2dω !�/ �%
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 ����
����� �.�/ "�� z �� � &'( ��
� �� !�/#% ���� !�/$% ����� 

������ �	 8���� �/ � 
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�� �0
� 
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⇒ M = 0
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ẋ = Ax +Bu+

⎡
⎣ 0

1

⎤
⎦ δ

y = Cx !�/  %

u = −ĥy = −ĥCx

8�
 Δ(s) �� 
�� ���	-���� ���
����	�� 
��	���� ��	�
��	 �� �	����
�� �	 ������
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Gy,δ =
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1 + ĥP

)−1

Δ = W1S



�#

P
y

qrkkksqr
b
akks

ks
W

SWPhG

yxyxyyx

x

y

2
1

1

1

,
ˆ1

ĥ
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s+ kx
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s+ kxky − kxryq
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Robustness Radius 
for Uncertain Intermediate Reactions RatesB
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�� ����I� �����
�	� ��	��
��	� 
*� ����
��	� 	�
������ �����6 ��	 
�� ��	
������

���
��� 
�� ���
�� 
� 	����� �����
�	� ��	��
��	� ���� 
���� ���
����
��	�N 0�* ���



AC

��	 
���� ���
����
��	� ���� ����������� �� ������ 
�� ���
�� �������N �	 ����	�� *�

��� ��+�	� ����
��	� �������	� 
�� ��(� �� 
�� �����	 �� �

���
��	 �� 
�� �����������

���	
/

��5������ �.�/ &����� �� ���
�	���� �� � )!�� ����� x∗ ∈ R
n ���� 
����	� �� ��� *��

φ(x, t) �� ��)��� �� ��� ��� Ω = {x0 ∈ R
n | limt→∞ φ(x0, t) = x∗} 

�� ������� 
���� �����	 �� �

���
��	 ����
��	� *� *��� ��� 
�� ��	���� ���� �� 
�� ��

����� !�/A% �	
������� �	 ����
�� �� *�
� f(y) = V yq

1+γyh / ��� ��������
� *� ��	�����


�� ���� a = b = 1 !
�� �����
� ������ ��	�����(� 
� �	� a, b > 0%/ ��� �����
�	� ��

����� ��

ẋ = V yq

1+γyh − gx(x)

ẏ = 2gx(x) − V yq

1+γyh − gy(y)
!A/ %

��� (x, y) ∈ R
+ ×R

+� *���� gx(0) = 0� gy(0) = 0� �	� gx(x) �	� gy(y) ��� ��	
�	����

��	�
�	� �	������	� ��	�
��	� �	 
�� ����
�)� ��
��	
/ ����� ��	�
���	
� �	 gx �	� gy

��� ��	���
�	
 *�
� ����� ������� �� �������� +�	�
��� ������ ���� �� ����-��
��	 �	�

1��������-1�	
�	/ ��� ��	�
��	 f(y) = V yq

1+γyh �� 
�� ��
� �� 
�� ��
���
���
�� ����
��	

�	� ���
���� 
�� 	���
�)� �������+ �� "�
 !y% )�� 
�� �	����
��	 �� 
�� ��
���(�	�

�	(���� 
�:� �� 
��� ����
��	6 
�������� �
 �� �� ���
������ �	
����
/ ��� �
��	�
�

�� 
��� �������+� ĥ = γ
γ+1

h� ���	�� �	 ����
�� �� �� ���
���� �� 
�� ������
��� γ

�	� h �	� ����	�� �	 
�� �
��	�
� �� �������� �	
����
��	 ��
*��	 
�: �	� "�



��
 ������ �����
���� ���	��� 
� 
�:/ ������ A/ �����
��
�� ��
� ��* γ �	� h �;��



�� ����
��	 ��
� �� 
�� ��
���
���
�� ����
��	 �	� ��* 
��� ���	�� 
�� �
��	�
� ��

�������+ �
 ����������� !����� �� f �
 y%/

��� �,�� ���	
� ��� 
�� ��	����� �	 !A/ % ��� ��
����	�� �� 
�� ����
��	� ��

f(y) = gy(y) �	� f(y) = gx(x)/ �	 ����
�� � *� ���*�� 
��
 �
 
�� ����������� ���	



�� ����� �� f(y) ���	� ������� 
��	 
�� ����� �� gy(y) �� 	�������� ��� �
�����
�/ 7�

*��� ������ 
��
 ���� ��	���� �������+ �� �����	
 �	 
�� ���
�� �	� ν(y) := gy(y)−
f(y) > 0 �	� ��	�
�	� ��� y > y0, *���� y0 �� 
�� )���� �� y �
 
�� �������	
��	��
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������ A/ 2 ��� �
��	�
� �� 
�� ��
���
���
�� ����
��	 *��� ����	� �	 ��
�)�
� �� 
��
��
���(�	� �	(��� f(y)/ !"% �	������	� 
�� �
��	�
� �� ������
 �	����
��	 �
�����(��

�� ����������� ���	
 �� �����	� f(y)/ �
 ��� ���	 ���*	 �,������	
���� 
��
 
�:
��
�)�
� �� � ��	�
��	 �� "�
 ��� 
�� ���� ��	���� ���
���� �� f(y) ���*	 �	 ����+
!F$G� F@G%/ !'% ��;���	
 γ �	� h �����	�
��	� ����� 
�� ���� �������+ �
��	�
� �
 
��
����������� ���	
 !ĥ%� ��
 ��)� )��� ��;���	
 ������ ������
����
���/

����������� ���	
/ ��	���� *� *��� ���� ������ 
��


sup
x>0

gx(x) > sup
0<y<y0

V yq

1 + γyh
.

���� ��	��
��	 �����	
��� 
�� �,��
�	�� �� � �,�� ���	
 �	 
�� �
���
 ����
�)� ��
��	


�� y0 > 0 !�/�/� x0 = g−1
x (f(y0)) �,��
�%/

��� ������� �
���
��� �� ��	
�	����-
��� ��	������ ���
��� �	 R
2� ���� �� !A/ %�

�	����� 
�� ��� �� ��	� 
����� ��� �
� �	������ 
��
 ��� 	�
 ���������� 
� ������ �
�
�

����	���	�/ ?	� �,����� �� 
�� 
��	����-'�	��,�	 
������� *���� ������� *�
�

�	����	��� �� 
�� ����
��	� �� !A/ % ����*� �	� 
� ���� ��
 
�� �,��
�	�� �� ����
 ������


������ 
�� ������
��	 �� � ��	��� ����
��	 
��J��
��� �� !A/ %/ �	 
��� ����
�� *� *���

�,����
 
�� ������� 	�
��� �� R
2� ��
 ���� �	)��
���
� �	� ��)���� 
���� 
��
 ��	�����(�


� ������ �
�
� ����	���	�� *���� �� 
�� ���J��
 �� 
�� 	�,
 ����
��/ ��� ������� ��


�� ���
 �� 
��� ����
�� �� 
*�����/

• �	)��
���
� 
�� �� ������ �
� ����)���� �
� ������
��� �	� *��
 �
 
������ ��

����
 ����������/ 7� ��� �)������� �	������ �	� ��	
��� 
���� !���� �� 
���

������� 
� ��% ��� 
��� �������/



A$

• �	)��
���
� 
�� �)������� 
����/ �	 ��
�� ����
��� *� ��	�����(� 
�� ����������

����� 
� �	�������
� ���� �	
�������
� ����
��	� �
�� �	������	� 
�� ����	���	

�� 
�� �
�
� ����� �	 
�� �������/ 7� �,���	� 
���� 
���� 
��
 ��� ��	�����(����


� ������ ����	���	�� �	� ��� 
�� �� ����� 
� �����
��
� 
���� ������
��� �	�

����
�
��	�/

%�� -
.	 ��
���/ ,�
!
�
��/ 
� �
����
�
���

����
 ��
 �� ��+� � ��* �����)�
��	�/ D�
��� 
��
 
�� �����
��	 �� H�* ��� !A/ % �	


�� ������	�
� �,�� �� ���	
�	� 
� 
�� �	���� �� 
�� ����
�)� ��
��	


x = 0 ⇒ ẋ =
V yq

1 + γyh
> 0, ��� y > 0

y = 0 ⇒ ẏ = 2gx(x) > 0, ��� x > 0

���� ���	� 
��
 ��� �����	 �� �	
����
 !
�� ����
�)� ��
��	
% �� �	)����	
 *�
� ������



� 
�� H�* �� !A/ %/ ���� 	�* �	 *� *��� ����� 
� ������ ������
��� �� ������
��� 
��


���� �	 
�� �	
��� ����
�)� ��
��	
� �	���� �
���*��� �
�
��/ D�,
 *� ���)� � �����


��
 ������� 
�� 
��J��
����� �� !A/ % �� 	�
 ���* ��/

����� �.�/ ��� �
�+�	��
��� �� ������ !A/ % �
� ������� 

������ ��� � ����� ε > 0, δ1 > 0 ��


β0 := inf
{
y0 | gy(y) − V yq

1+γyh > δ1, ∀y > y0

}
α0 := ε+ inf

{
x|gx(x) > sup0<y≤β0

V yq

1+γyh

}
δ2 := gx(α0) − sup0<y≤β0

V yq

1+γyh

D�
��� 
��
 δ2 > 0 !gx �� ��	�
�	� �	������	�% �	� β0, α0 <∞/ ���	�

U : R
+ × R

+ → R



@�

��

U(x, y) =

⎧⎪⎨
⎪⎩

2x+ y − β0 y > β0

2x y ≤ β0

. !A/�%

U �� � ��	
�	����� ����
�)�� �������� �	���	��� ��	�
��	 �	 
�� ����
�)� ��
��	


!������ A/�%/ ��� y �= β0,

d
dt
U(x, y) =

⎧⎪⎨
⎪⎩

2ẋ+ ẏ y > β0

2ẋ y < β0

=

⎧⎪⎨
⎪⎩

V yq

1+γyh − gy(y) y > β0

2
(

V yq

1+γyh − gx(x)
)

y < β0

��	����� � ��)�� ��
 �� U � U(x, y) = η/ ��� η ≥ 2α0� *� ��)� 
��


y > β0 ⇒ V yq

1 + γyh
− gy(y) ≤ −δ1 < 0

�	�

y < β0, U(x, y) ≥ 2α0 ⇒ x ≥ α0

y < β0, x ≥ α0 ⇒ V yq

1+γyh − gx(x) ≤ −δ2 < 0.

4�
d

dt
U(x, y) ≤ −δ < 0

��� (x, y) ∈ {(x, y) | U(x, y) ≥ 2α0, y �= β0}� *���� δ = min {δ1, δ2}/ ��� ����
�)�

��
��	
 �� �	)����	
 
� 
�� H�*� 
��	 ��� �	� η ≥ 2α0 
�� 
��J��
����� ��		�
 ���)�


�� �����	

Dη :=
{
(x, y) ∈ R

2|x ≥ 0, y ≥ 0, U(x, y) ≤ η
}
,

�����
��
�� �� 
����(��� OABC �	 ������ A/�/ ���
������� 
�� �����	
�	��
� �� 
��

���
���� �� U �
 y = β0 �� 	�
 ���
���� ��	�� ��� y = β0�

ẏ = 2gx(x) − f(β0) − gy(β0) = 2gx(x) − c1
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Dη y = β0

��� �������	 ��	��� 
�� ��� ��������� 	����������
���� ��� �� 
�� η ����� ��
 �
 U �

������ A/�2 ��	�
���
��	 �� 
�� 
�����	� �����	 ��� �-� 	�	��	��� ����������/

�	� �� ��	�
�	���
� �� gx� ��� ���� κ� ẏ > 0 ��� x > κ �	� ẏ < 0 ��� x < κ/ 4�	��


���� ��� 	� �,�� ���	
� �	

Dc
2α0

= {(x, y) | x ≥ 0, y ≥ 0, U(x, y) > 2α0} �

���� 
��J��
��� 
��
 �
��
� �	 Dc
2α0

��	 ����� 
�� ��	� y = β0 � ��,���� �� 
*� 
����

!������ A/�%/ 4� 
�� 
��� 
�� ����
��	� ���	� �	 y = β0 �� 	���������/ ��� ���)�

������	
 ���*� 
��
 ��� 
��J��
����� *��� ����� D2α0 �,��	�	
����� ���
/

(����� �.�/ ������
 ��� �� 	����
�	���� ��� ��� D2α0 �� �� 	����	����� ��� �� ���

"������� ���� ���	����� U1(x, y) = x ��� U2(x, y) = 2x + y U1 ���� ��
	� ��� ���

�
�+�	��
��� �� 
��	� ��� ����
���� ���

Dx = {(x, y) | 0 ≤ x ≤ α0, y ≥ 0} ,

��� U2 ���� ��
	� ��� �
�+�	��
��� ���� ���
� �� Dx �� 
��	� ��� ����
���� ��� D2α0 

��� )��
 ��J���
� �� 
�� �������� �	�
�	��� �� !A/ % ��� 
������������ ����)���	
 
� �	�

�� 
���� �	�
�	��� ���*	 �	 ������ A/A� ��
����	�� �� 
�� ����
��	� 
� V yq

1+γyh = gy(y)/

��� 
���� �	�
�	��� A� B �	� C� �����
�� �	 ������� A/A "� '� �	� � ������
�)����
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������ A/A2 ��� )��
 ��J���
� �� 
�� �������� ������ ��� 
������������ ����)���	


� �	� �� 
���� �	�
�	���� ��
����	�� �� 
�� 	����� �� �,�� ���	
� �	 
�� ����
�)�
��
��	
/ ���� 	����� �� ��
����	�� �� 
�� 	����� �� ����
��	� 
� V yq

1+γyh = gy(y) ��

���*	 �	 !"%� !'% �	� !�%/ ��� 
���� �	�
�	��� A� B �	� C �������	
 ���
��� 
��

��)� 1� 2 �� 3 ����������� ���	
� �	 
�� ����
�)� ��
��	
 ������
�)���/

��	 �� ������
���(�� �� ��)�	� 1� 2 �� 3 ����������� ���	
� �	 
�� ����
�)� ��
��	


������
�)���/ 7� *��� ��	����� 
�� ���� *��	 gy(y) �� 
�	��	
 
� V yq

1+γyh �� � �������

���� �� �	�
�	�� C� �)�	 
����� �
 ��� �	�� � �,�� ���	
� �	 
�� ����
�)� ��
��	
/

��
����� � ��� ��
�*�� �� ��	����	� "�
 !y% ���
�� 
��	 �
 ��	 ������� �
� �/�/

gy(y) >
V yq

1+γyh , ∀y > 0 !������ A/A"%/ ��� �����	 �� �������� �����
�
������ �
�����

�/�/ ��� 
�� 
��J��
����� �� 
� 
�� �����	/ ���� ���	� 
��
 
�� ��
�*�� *��� ����� �	�


�� ���� *��� ���/ ��� ���� ��	 �)��� 
��� ���	���� �� ������	� "�
 ��	����
��	 ��

�	������	� "�
 ������
��	 )�� 
��	�����
��	�� ������
��	/

 ����
����� �.�/ ,� gy(y) >
V yq

1+γyh , ∀y > 0 ���� ��� )!�� ����� �� !A/ % �� ��� �
����

�� �������� ���������	���� ������ 

������ 8�
 �� ��	����� 
�� �����*�	� ��	�
��	 U(x, y) = 2x + y/ U �� � 8����	�)

��	�
��	 ��	�� U(0, 0) = 0 �	� U(x, y) > 0 ��� x, y ≥ 0� (x, y) �= (0, 0)/ U �� �	���	���

�	� U̇(x, y) = V yq

1+γyh − gy(y) < 0 ��� y > 0/ �	)����	�� �� 
�� ����
�)� ��
��	
 �	� �

������ �������
��	 �� 8�4����I� 
������ ���)� 
�� �����
�
�� �
�����
�/ �

��
����� - ����� ��� 
*� �,�� ���	
� !������ A/A'%/ ��� �����	 �� � ������ ���	


*���� �
���� ��	����� 	�
 �	 
�� ����
�)� ��
��	
/ ��� �
��� �,�� ���	
 �	 
��

����
�)� ��
��	
� ��	�
�� (xe, ye)� �� � 	���/ �	 ����
�� � *� ��������� ��* 
��� �,��

���	
 (xe, ye) ��	 �� 
������ � 0��� �������
��	 !�� �	������	� 
�� �������+ ���	%



@A

�	� ��)� 
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��	� ��� �
� �
�����
�/ ��� 	�,
 �������
��	 ��
�������� 
��
 �� 
��

��	����
��	 �	� ������
��	 �� "�
 �
 
�� ������ �� ������ A/A'� ��������)� �������+

��	 ��+� 
�� "�
 ��	��	
��
��	 �������
� ��
 
�� ��
�*�� *��� 	�
 �����/

 ����
����� �.�/ ,� (xe, ye) �� � �����
 ���
	� ��� ��� ���� �%�����
��� ����� �� !A/ %

�� ��� ��
�	��� �������� �
������ ���� ���
� �!���� � �������� ������ ����� 	�	�� 

������ "�� 
�� 
��J��
����� �� !A/ % ��� ���	��� �	 D2α0 !8���� A/ % �	� ��	�� 	�


��J��
����� ��	 �� 
� ��
��� �� 
�� �,�� ���	
� �	 
�� �����	� 
��	 �� 
�� 
��	����-

'�	��,�	 
������� 
���� �,��
� � �������� �
���� ����
 �����/ �

�� (xe, ye) �� ��	����� �
����� 	�������� ������
��	 �� � ��	��� 
��J��
��� �� !A/ % ���-

��	�� *�
� 8���� A/ �	� 
�� 
��	����-'�	��,�	 
������ ���* 
��
 �
� �����	 ��

�

���
��	 �� 
�� *���� ����
�)� ��
��	
 !*�
���
 
�� �����	%/

��5������ �.�/ ��
 ��� ��	��
� v, w ∈ R
n� v = (v1, . . . , vn), w = (w1, . . . , wn) ��

�
��� v � w �� vi > wi, ∀i� ��� v 
 w �� vi ≥ wi, ∀i 

��
����� ) ����� ��� 
���� �,�� ���	
� !������ A/A'%� � ������ �	� 
*� 	����/

8�
 (xe, ye) � (xs, ys) � (0, 0) �� 
�� �,�� ���	
�/ ��� �����	 �� � �
���� �,�� ���	
�

(xs, ys) �� � ������ �	� (xe, ye) � 	���/ ��� �
�����
� �� (xe, ye) *��� ����	� �	 
��

�
��	�
� �� �������+� �� ��������� �	 ����
�� �/ "� 
�� �������+ ���	 �	��������

� ��������
���� 0��� �������
��	 ������/ D�������� ������
��	� �� ����
��	� �� !A/ %

�����	�� *�
� 8���� A/ �	� 
�� 
��	����-'�	��,�	 
������ ���* 
�� �,��
�	�� �� �

�
���� ����
 ����� �	 
��� ���� !�/�/� *��	 ���� ���	 ���
�����(�� (xe, ye)%/ D����������

�	� ��	 ���* 
��
 
�� �
���� ��	����� �� 
�� ������ ���	
 ������
�� 
�� �����	 ��

�

���
��	 �� 
�� �����	 ���� 
�� �����	 �� �

���
��	 �� (xe, ye) !�� 
�� ����
 �����

*��	 (xe, ye) �� �	�
����%� �� �����
��
�� �	 ������ A/@/

��� ���� 8����	�) ��	�
��	 U(x, y) = 2x+ y 
��
 *� ���� ������� ��)�� �	 ��
�-

��
� �� 
�� �����	 �� �

���
��	 �� 
�� �����	 �� �	����
�� �	 ������ A/@/ ���� ��
���
�

�� ���
� ��	���)�
�)�� ��*�)�� �
 ��	�����(�� 
� ������ !�
�
� �����% ����	���	�/ �
 ����

��������
� �	 �����
�	
 ������
� �� 
�� �����2 � ��=���	
 ��	��
��	 ��� 
�� �����
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������ A/@2 9��	� � ������ 8����	�) ��	�
��	 *� ��	 ��
 �	 ��
���
� ��� 
�� �����	
�� �

���
��	 !��"% �� 
�� �����	/ ��� �
���� ��	����� �� 
�� ������ ������
�� 
��
��" �� 
�� �����	 ���� 
�� ��" �� (1, 1)/


� ����� �� ��� 
�� �	�
��� ��	��	
��
��	� 
� �� �	 �	 �	)����	
 �����	 �� �
�
� �����

*���� ���� "�
 !y% �� ��	����� 
��	 �������� �� 
�� ��
���
������/

"	�
��� �����
�	
 �����)�
��	 ���� )�� 	�������� ������
��	�� �� 
��
 ��������)�

�������+ ��	 ����� �������/ ���� �����	� ��� ���
��	 "�
 ��	����
��	 ��	�
��	�

gy(y) 
��
 ��� ����
�)��� H�
 !	��� ��
���
��	% 	��� 
�� �,�� ���	
 )����� ys �	� ye/

�	 
��� ����� ���� �������+ ���	 !h% ����� �	������ 
�� ��(� �� 
�� ����
 ����� 
� 
��

���	
 
��
 �
 ��
� 
�� ������ ���	
 !������ A/B%/ ���� ����
�� � �������	�� �������
��	

�	� ������ 
�� "�
 ��	��	
��
��	 
� �� 
� 0/ �� 
��� �������
��	 �����	�� 
��	 ���

�	�
��� ��	��
��	� !�,���
 ��� � ��
 �� ������� (���% *���� ����� 
�� ��
�*�� 
� �����/

9	��+� 
�� �
��� 
���� �� ������� ����
�� �� ������	�� �	 
�� ��)��� �� ��	����
��	

�	� ������
��	 �� "�
 !��	
������ �� 
��	�����
��	�� ������
��	%� 
��� 
��� �� �����

�� ������ �� ��������)� �����
���� ������
��	/ ��� �����*�	� �,����� �����
��
�� 
���

����/

01����� �.�/ ,� �%������ !A/ %� ��� h = 4� γ = 5� q = 2� V = 6� gy(y) = 1.2y
0.2+y

���
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gx(x) = kx �������	���� 
�����	�� -� �� ��� ��� ��������� ������

ẋ =
6y2

1 + 5y4
− kx

ẏ = 2kx− 6y2

1 + 5y4
− 1.2y

0.2 + y

��� �%�����
��� ����� �� ����
��� ��
(

1
k
, 1
)
 �� ���	����� �� $�����
 .� ��� ��
����� ��

��� �������� ������	
 �� ����
����� �� h ��� γ ��
 k = 2� ��� 	���
����
 ���������� ���

������ �� ����� �� ����
� / 0� ,� ��� 	��	���
����� �� ��� ����
������� 	���������

������ �
���� ��� 
��	���� 
��� k ���� �
�� �� ���� ,� ��� �
�� �� ��� ������ �� ���� ����

�� �������������� ��	� �� ��	��������� �
 ���� 	���� ��� ������ �� 	
��� ��
 �!�����

	������ ��� 
��	���� 
��� �� ���� �� k = 1 ���� ���� ��� ��( 	��	���
����� (y) ��

��	������ �����
� / 01� ,� ��� �
�� �� ���� ��
� �
����	� ��� k = 0.5 ��� ��	���������

�
�� ��	� �����
 ��� ��� ������ ���
��	��� � ����	����	 ����
	������ � � ��� �����

	�	�� �� 	���� �� ������� ��� ������ ����� �����
� / 0$� �� k = 0.4 ��� ������� 	
�����

��� ��� 	��� ���� ��� ����� 	�	�� ����� �� �� � 
����� �� ��� ����
	����� ��� ��������

��� �
�+�	��
��� �� �� ��� �
���� �� ����� �� ����
� / 02 

����� ��� 
*� *��� 
� �)��� 
�� ���	���� �	 3,����� A/ / ?	� *�� �� 
� ��� � ����

��������)� ��	
������� *���� �� ���� �=���	
 ��
 ���� �����
 
� ���	��� !�� ���������

�	 ����
�� �%/ ��� ����	� �� ��� 
�� 
��	�����
��	�� ������
��	 
� ����
 �	� ��J��


gy(y) !
�� ��
� �� "�
 ��	����
��	% �	� V yq

1+γyh !��
� �� "�
 ������
��	% �	 !A/ %

�������	���/ ���� ����
��	 �������� 
��
 
�� 
��	�����
��	�� ������
��	 ��
 �
 
��

���� 
�������� �� 
�� ���� �	 �	(��� ��	��	
��
��	/

"	�
��� �����)�
��	 ���� 3,����� A/ �� 
��
 
�� ����������� ��	��	
��
��	 �� 
��

�	
�������
� ��
�����
� !x% ����	�� �	 
�� ��
� �� 
�� ����
��	 !k%� *���� ����	��

�	 
�� ��	��	
��
��	 ��)�� �� 
�� ��
���(�	� �	(���/ "� ����� �����	 ����� 
� 
��

��)�� k̃ *��� ����� � ���
����
��	 �	 
�� x-�����
��	 *���� ��)�� 
�� ���
�� � ���
�	��

δx = 1
k
− 1

k̃
���� 
�� ����������� ���	
/ 0�* ��� ��	 
��� ���� �� �� 
�� ���
�� ��


� ��	
�	�� 
� ��	)���� 
� �����������N �� �	�*�� 
��� ����
��	 *� 	��� 
� ��
���
�


�� �����	 �� �

���
��	/
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������ A/B2 3,����� A/ /��� �
���� �	� �	�
���� ��	������ �� 
�� ������ ���	
 ���
���*	 �	 ���� �	� ��� ������
�)���/ "�������)� �������+ �� �
�����(�	� �	� �=���	

�	��� ���� �����
�	� ��	��
��	�� ��
 ��
�� �	��� ���� �
����/ !"% ��� 	���
�)� ����-
���+ �
�����(�� 
�� "�
 !y% ������
��	 (k = 2)/ !'% " ���� �	 �	(��� ��	��	
��
��	�
����� ���� 
� ���*�	� ��*	 
�� �	
�������
� ����
��	 (k = 1)� �����	� 
�� "�
 ��	-
��	
��
��	 
� �������
�/ !�% ���
��� ���* ��*	 �� 
�� �	
�������
� ����
��	 (k = 0.5)
�����)�
�� 
�� �������
��	�� �����	� 
�� ���
�� ����� 
� � �������	�� �������
��	/ !�%
��� ����
 ����� ���*� �	� ��
� 
�� ������ ���	
� �����	� � �������	�� �������
��	/ "

k = 0.4� 
�� ���
�� ��� �������/
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%�% 0	�
�� �� ����
��
�� 1��
�
�
�� 2�
�� ���
�
3
�
��4

�
�	 -�����
�
��

�� 
�� ��	����� ��� ��
��	�� ��	�
��	� �� 
�� �
�
�� *� ��	 ��
���
� 
�� �����	 ��

�

���
��	 �� 
�� �����	 ���

ẋ = F (x),

x ∈ R
n �� ���	� 8����	�) ��	�
��	� �	� 4��� �� 4������ !4?4% ���������	� F� �

�C� �>� @@G/ �	 
��� �����*��+� *� ������ ��� � ����	����� ��	�
��	 U : R
n → R

��
�����	�

U (0) = 0

U (x) > 0, x ∈ N0\ {0}
− d
dt
U (x) > 0, x ∈ N0\ {0}

!A/A%

�	 ���� 	����������� �� 
�� �����	 N0/ ?	� *�� 
� ���	� N0 �� �� 
�� �����)�� ��
�

�� � ����
�)� ���	�
� ����	����� ��	�
��	 ϕ *�
� ϕ(0) = 0 �	� ������
 ��)�� ��
�� �/�

N0 = Ωϕ,α = {x ∈ R
n | ϕ(x) ≤ α}/ D�,
 �	� 
�� ��,���� ��)�� ��
 �� U(x, y) 
��


���� �	
����� �	 N0� �/�/� �	� ��,���� )���� �� β ���� 
��


{x | U (x) ≤ β} ⊂ N0 !A/@%

���	 ΩU,β = {x ∈ R
n | U (x) ≤ β} �� �	 �	)����	
 �����
 �� 
�� �����	 �� �

���
��	

�� 
�� �����	 F� G/

7� ���* ���� �	 ��
��	� �� � ��������� !������� 
� 
�� �	� ��)������ �	 F�>� @�G%


� ��
���
� 
�� �����	 �� �

���
��	 �� 
�� �����	/ 9��	� ��	�����(�
��	� �� 
�� 4-

��������� FCG� 
�� ���)� ������� �� ����,�� 
� � ����	����� �������� 
��	���
�� �	
�

� �������	�
� ���������	� !4�
% ������� ���	� ���� �� ������� !4?4% ����,�
��	�

F�CG �	� ���)�� ���	� 4?4�??84 FA�� A@G/ &�)�	 ϕ �	� ������ m �� U � *� ������ U

�	� 
�� ��,���� )���� �� α 
��
 ��
����� 
�� �����*�	� 4?4 ��	��
��	�
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U(x) ∈ Rm [x]

U(x) − εxTx + s1(x) (ϕ(x) − α) �� SOS

∂
∂x
U(x) · F (x) − εxTx + s2(x) (ϕ(x) − α) �� SOS

!A/B%

*���� Rm [x] �� 
�� ��
 �� ����	������ �� ������ m� �	� s1 �	� s2 ��� 4?4 ����	������

�� � �,�� ������/ �� �	� 
�� ��,���� α� *� ��� � ��	� ������ ������
�� �	 α �	�

����+ 
�� ���������
� �� !A/B% ��� ���� α/ ��� ��������	��	� U �	� α 
��
 ��
���� !A/B%

*��� ��
���� !A/A% *�
� N0 = Ωϕ,α/

&�)�	 U � ϕ� α 
��
 ��
���� !A/B% *� �	� 
�� ��,���� )���� �� β 
��
 ��
����� 
��

�����*�	� 4?4 ��	��
��	

s3(x) (U(x) − β) + s4(x) (α− ϕ(x)) − 1 �� SOS !A/>%

*���� s3 �	� s4 ��� 4?4 ����	������ �� ���������
� ������/ �� �	� 
�� ��,����

β� *� ��� � ��	� ������ �	 β �	� ����+ 
�� ���������
� �� !A/>% ��� ���� β/ ���

��������	��	� U, ϕ, α, β 
��
 ��
���� !A/>% ��
���� !A/@% ����� �	� ΩU,β �� �	 �	)����	


�����
 �� 
�� �����	 �� �

���
��	 �� 
�� �����	/ �� �����)� 
�� ��
���
� �� 
�� �����	

�� �

���
��	 ΩU,β� *� ��	 �����
 
�� ��������� *�
� ϕ = U /

7� ��� ���	� 
� ��� 
�� ��������� ���)� 
� ��
���
� 
�� �����	 �� �

���
��	 ���

���� �,�� ���	
 �� 
�� ���
�� !A/ %/ �	 
��� ���
��	 *� *��� ��� ������� ����� ��


�� ����
��	 ����
��	 ��
�� gy(y) = kyy �	� gx(x) = kxx/ ����� 
���� �� ����
��	

��
�� ������ *��	 ����-��
��	 +�	�
��� ��� ���� 
� ����� 
�� ����
��	 ��
��/ 4������


���
��	
 *��� ����� 
� �
��� 
���� �� gx(x) �	� gy(y)/ D�,
� *� 	������(� 
��

����
��	 !A/ % �� 
��
 
�� ��	��	
��
��	 �� "�
 �
 ����������� ���	
 �� �	
����
 �� 1/

��
 ��� 
��� �� ��� 	�����
 �� ���� ������ ���� ��
���������� ��	���� *� ����
 
��

�,�� ���	
 �� �	
����
 �
 
�� 
�� �����	 (0, 0) �� � ������ ���	�� �� ������	�
��� �	�

��
�� ��������	�� 
�� ���
�� �� !A/ % �������

ẋ = Fx(x, y)

ẏ = Fy(x, y)
!A/C%
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��� (x, y) ∈ D� *����

Fx(x, y) := ky
(1+γ)(y+1)q

1+γ(y+1)h − kx

(
x+ ky

kx

)
Fy(x, y) := 2kx

(
x+ ky

kx

)
− ky

(1+γ)(y+1)q

1+γ(y+1)h − ky (y + 1)

D :=
{

(x, y) ∈ R
2|(x, y) ≥ (−ky

kx
,−1)

}

�	 
�� ���� *��	 h, q ��� �	
����� *� ��	 ��	)��
 !A/C% �	
� � ����	����� )��
�� ����

�� 
�� �����*�	� ������ 
��	������
��	/ 8�


H(y) := 1 + γ (y + 1)h

Gx(x, y) := Fx(x, y)H(y)

Gy(x, y) := Fy(x, y)H(y)

�	� ���	� 
�� )��
�� ���� G ��

⎛
⎝ ẋ

ẏ

⎞
⎠ =

⎛
⎝ Gx(x, y)

Gy(x, y)

⎞
⎠ !A/#%

����� �.�/ "�� ΩU,β = {(x, y) | U (x, y) ≤ β} ���� U(x, y)� β ���������� 	���������

!A/A% ��� !A/@% ��
 !A/#% �� �� ����
���� ������ �� ��� 
����� �� ���
�	���� �� ��� �
����

��
 !A/#%� ���� Ω̃β = Ωβ

⋂D �� �� ����
���� ������ �� ��� 
����� �� ���
�	���� �� ���

�
���� ��
 !A/C% 

������ 8�
 LF �� 
�� 8�� ����)�
�)� *�
� ������
 
� )��
�� ���� F ���	�� �� !A/C%

�	� LG 
�� 8�� ����)�
�)� *�
� ������
 
� )��
�� ���� G ���	�� �� !A/#%/ ���	

LFU(x, y) =
∂U

∂x
Fx(x, y) +

∂U

∂y
Fy(x, y)

=
1

H(y)

(
∂U

∂x
Gx(x, y) +

∂U

∂y
Gy(x, y)

)

=
1

H(y)
LGU(x, y)
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ΩU1,β1

������ A/>2 ��� �	�� ��
���
�� �� 
�� �����	 �� �

���
��	 �� 
�� �,�� ���	
� ���	� �
����	� ����� ����	����� �� � 8����	�) ��	�
��	 ��� ���*	 �	 ���/ ��� �	
�������
�
��
���
�� Rγ1 �� 
�� �����	 �� �

���
��	 �� �,�� ���	
 (1, 1) �� ���� ���*	 �� *��� ��
������ 
��J��
����� �� 
�� ���
��/ ��� �
���� ��	����� �� 
�� ������ !���*	 �	 ����+%
������
�� 
�� �����	 �� �

���
��	I� �� 
�� 
*� �,�� ���	
�/

��� (x, y) ∈ D� H(y) > 1 > 0 �	�

−LFU(x, y) = − 1

H(y)
LGU(x, y) > 0.

��������� U(x, y) ��
����� !A/A% ��� ���
�� !A/C% �	 
�� �����	 Ωϕ,α

⋂D/ 4�	�� D ��

�	)����	
 *�
� ������
 
� 
�� H�* �� !A/C% 
��	 Ω̃β = Ωβ

⋂D �� �	 �	)����	
 �����
 ��


�� �����	 �� �

���
��	/ �

8���� A/� ������� 
��
 *� ��	 ��
 �	 ��
���
� �� 
�� �����	 �� �

���
��	 �� !A/C%

�� ���)�	� !A/A% �	� !A/@% ��� 
�� )��
�� ���� !A/#%/ �� h �	� q ��� �	
������ 
��	 
��

��	�
���	
� �	 !A/A% �	� !A/@% ��� ����	����� ��	�
���	
� �	� �� ���� *� ��	 ��� 
��

��������� ��������� ���)�/

��� 	�,
 
*� �,������ �����
��
� 
�� ��������� �	� ���� �� �
� ����
�
��	�/

01����� �.�/ "�� V = 3� h = 4� q = 2� γ = 2� gx(x) = x ��� gy(y) = y �� !A/ % 

3� �������� ��� 
����� �� ���
�	���� �� ��� )!�� ������ 

"�� �� ���
 �� ��� )!�� ����� �� (1, 1) )
�� 3� ����� ���� )!�� ����� �� ��� �
���� 



B 

��� 
�������� ��	��
 )��� ��

ẋ = 3(y+1)2

1+2(y+1)4
− 1 − x

ẏ = 2x− 3(y+1)2

1+2(y+1)4
− y + 1

��
 (x, y) ∈ D = {(x, y) ∈ R
2 | (x, y) ≥ (−1,−1)} ��
�� �� ��)��

N0 = Ωx2+y2,α =
{
(x, y) ∈ R

2|x2 + y2 ≤ α
}

��� ���
	� ��
 � ��	��� ���
�� ���������� U1(x, y)� ��� � ��!���� ����� αmax ����

������� !A/A% ��
 ��� 	�

��������� ���������� ��	��
 )���

ẋ = 3 (y + 1)2 − (1 + x)
(
1 + 2 (y + 1)4)

ẏ = −3 (y + 1)2 + (2x− y + 1)
(
1 + 2 (y + 1)4) .

4�!� �� )�� β1 �� ������� !A/@% ��
 N0 = Ωx2+y2,αmax
 ��� 
�������� �������� ���

ΩU1,β1� ���� U1(x, y) = 2.3842x2 + 1.9118xy + y2 ��� β1 = 0.4098� �� �� ��������

�� ��� 
����� �� ���
�	���� �� (1, 1) ,� �
��
 �� ���
��� ���� �������� �� 
�����

��� �
�	��� ���� N0 = ΩU1,β1 ����
 ���� ���
������ ��� )��� �������� �� ΩU,β ����

U(x, y) = 2.3004x2 + 2.001xy + y2� β = 1.8463  1��� ��������� ΩU1,β1 ��� ΩU,β ��

��� 
����� �� ���
�	���� �� (1, 1) �� ���� �� �� �������� �� ��� 
����� �� ���
�	���� ��

��� �
���� �������� ����� %���
���	 "������� ���	����� �
� ����� �� ����
� / 5 

7� ��	 �����)� 
�� ��
���
�� �	 
�� �����	 �� �

���
��	 �� ���	� ������ ����� ����-

	������ �� 8����	�) ��	�
��	�/ 0�*�)�� ��	������
��� !�,�� ���	
� 	�����% �	� 
��

	�
��� �� 
�� ��)�� ��
� 	��� U ����
 ��* ��� 
�� ��
���
�� ��	 ��/

01����� �.�/ 6������� 
������ �� ���
�	���� �� ��� )!�� ����� �� y = 1 !A/ % ��


���V = 3� h = 6� q = 1� γ = 1� gx(x) = 1.2x ��� gy(y) = y

�1�V = 3� h = 6� q = 2� γ = 2� gx(x) = 1.1x ��� gy(y) = y

6��������� ����� ����� ���������� "������� ���	����� �� ��7�
��� ���
��� �
� �����

�� ����
� / 8 ,� ���� 	���� ��� 	������ )!�� ����� �
������ � ����� �� ��� ��!����

���� �� ��� 
����� �� ���
�	���� �������� 
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Order 4
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B

������ A/C2 0����� ������ ����	����� 8����	�) ��	�
��	� �����)� 
�� ��
���
��
�����	 �� �

���
��	� ��
 
��� �����)���	
 �� ����
�� �� ��* ����� 
�� 	�,
 �,��
���	
 ��/

�
 ������ �� ��	
��	�� 
��
 ���	� ������ ����� 8����	�) ��	�
��	� �� ���� �����-


�
��	���� �,��	��)� �	� ��	 �� 	���������� �	�
����/ "�
����� �
 �� 	�
 �)���	
 �	


�� �,������ ���*	 �	 ������ A/C� �	 ��	� ����� 
�� ������ ����� �����	 �� �

���-


��	 ��
���
� ��� �� *���� 
��	 � ��*�� ����� �	�� ������� �� 	�������� ������ �	�

������,�
� �������
�� ��)�� ��
� �� ������ ����� ����	������/

����� (���)���' *
!������� �
 #�����!���
�� 
) +�����
 $
���,

��
��

�����
	��� 
� ���
����
��	 �	 �	�
��� ��	��
��	� �� ������� ����
�� 
� 
�� ��(� �� 
�� ��-

���	 �� �

���
��	 ��� � ���
������ �,�� ���	
/ 
�������	�� �������� 
��
 ���
��� 
��

����	
 �	� 
��� �� ���
����
��	� ���� 
�� �,�� ���	
 
��
 
�� ���
�� ��	 ����)��

���� ��	 �� 
��	���
�� �	
� )������	� ���
��	 ������
��� �� 
�� �����	 �� �

���
��	 ��


��
 �,�� ���	
/ ��� �	�
�	��� ���
�	�� ���� 
�� ���	���� �� 
�� �����	 �� �

���-


��	 ��)�� �� � ������� δ �� 
�� ��,���� ���
����
��	� �	 �	� �����
��	 ���� 
��

�,�� ���	
 
��
 
�� ���
�� ��	 
�����
� �	� �� ���� 
� ����)�� ����/ "	 �������
��

��������	�� ���
���� *���� �� ��)�	 �� �������	� δ 
� �� ���)� � ���
��	 
�������� θ/

�� �	� �� �	
����
�� �	 
�� �,�� ���	
 (1, 1)� 
��	 � θP0.3 ������� *� 	��� 
� �� ����


� )����� 
��
 ���
����
��	� �� δ > 0.3 *��� 	�
 ����� 
�� ���
�� 
� �����/ &�)�	 ���
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������ A/#2 <������
��	 �� �����
	��� 
� ���
����
��	� �	 
�� ����������� ��	��	
��-

��	� ���	� � ����	� ����� ����	����� �� � 8����	�) ��	�
��	/ ��� ����(�	
�� �,��
�� 
�� ��
� �� 
�� �	
�������
� ����
��	/ ��� )��
���� �,�� �� 
�� �
��	�
� �� �������+
ĥ = γ

1+γ
h �� ���	�� �	 ����
�� �/ �	 
��� �,����� q = 1 �	� ky = 1/ 2, 500 ��;���	


������ *��� �	)��
���
�� �	� �	 ��� ��� ���*	 
�� ������
�� )����� 
��
 ���	� ���-
��� 
��	 ��	 ����)�� ���� ���
����
��	� �� 0.3 ���� 
�� �,�� ���	
 ( 1

k
, 1) !�� ����

�� 30% �	�
�	
�	���� ���	�� �	 "�
 ��	��	
��
��	/% �	 ���� ��� ���*	 
�� ������

��
 ��� �
���� ��
 *� ��		�
 )����� ���� ����
� �����	/

	������(�
��	� δ > 0.3 ������� 
��
 ��	��	
��
��	 �� "�
 !y% ��	 ���� �� �	������

�	�
�	
�	������ �� �� ���� �� 30% �	� 
�� ���
�� *��� �
��� ����)��/ ��� ��� ���-

������� ����� !A/C%� �	 �	)����	
 �����
 �� 
�� �����	 �� �

���
��	 *�
� δ > 0.3 ��	

�� )������ ���	� �	�� � ����	� ������ ����	����� �� � 8����	�) ��	�
��	 ��� ���


������
�� )����� !������ A/#%/ �	 ���
 
��� �����)�
��	 ����� 
��� ��� ��	� �
���

����
�� ��������	�� ���
���� 
��
 ����
� 
� 
�� ��(� �� 
�� )������ �����	 �� �

���
��	/

����� $
��
����� ��� *
!�������

" ���
�� �� ��	������� ������� �� �
 �� ��	��
�)� 
� ���
����
��	� �	 
�� ������
����

�/�/ ����� ���
����
��	� �	 
�� ������
��� ���
�����(� 
�� ���
��/ �	 ����
�� �

*� ���	�� �	� �������
�� 
�� �����
	��� ������ *�
� ������
 
� ���
����
��	� �	

��;���	
 ������
��� ���� �� kx �	� ĥ/ " ����� �����
	��� ������ *�
� ������
 
� �

������
�� ���	� 
�� ���
�� �� ������� 
� ���
����
��	� �	 
��
 ������
��� *���� � �����

������ ���	� 
�� ���
�� �� �����
 
� ���� ���
����
��	�/ "� �,���
��� �������
��	�

�� 
�� )������ �����
	��� ����� ���* 
��
 ���
�� *�
� ������
�� )����� ����� 
� 
��



B@

������
�� �
�����
� ���	���� �� 
�� ���
�� ��� �������� *���� ���
��� *�
� ������
��

)����� 
��
 ���� �	 
�� ������ �� 
�� ������
�� �
�����
� �����	 ��� �����
/ ?	�

�����)�
��	 ���� 
�� ���)���� ���
��	 �	� ������ A/# �� 
��
 �
 �� ������ 
� )����� 
��

����
� �����	�� ��������� �	 
���� �� 
�� ��(� �� 
�� �����	 �� �

���
��	 �� 
�� �,��

���	
� ��� 
���� �����
 ���
���/

7� *��� ���	� ��* ������, � ���
�� �� �� 
�� ������,�
� �� 
�� )��
�� ���� �	


�� 	����������� �� 
�� �����
�	� ����������� ���	
/ ?	� *�� �������	� 
��� 
���

�� ������,�
� �� �� 
�� ������ �� 
�� �������
 ������ ����	����� 8����	�) ��	�
��	

	����� 
� )����� 
��
 � ��
 B �� � �����
 �� 
�� �����	 �� �

���
��	/ ��� ������ 
��

������ �� 
��
 ����	������ 
�� ���� ������, 
�� ���
�� ��/ ��� �,����� *� *��� ���+

�
 
�� ���
�� !A/C% *�
� q = 1 �	� 
���-������ �� 
��
 ky = 1

ẋ = (1+γ)(y+1)

1+γ(y+1)h − 1 − kxx

ẏ = 2kxx− (1+γ)(y+1)

1+γ(y+1)h + 1 − y
!A/$%

�	 
�� �����	D =
{

(x, y) ∈ R
2|(x, y) ≥ (− 1

kx
,−1)

}
/ ��� � ��)�	 �,�� kx� 
�� ������

��	���
�� �� 
�� ��;���	
 ������� �	 γ, h ��)� 
�� ���� 
������� �	 D� �/�/� 
��� �	��

��)� �,�� ���	
� �
 (− 1
kx
,−1) �	� (0, 0)/ ��� γ, h ������� 
��
 ������� � ��	�����

�
���� �,�� ���	
 �
 
�� �����	� *� ��	 ���* 
��
 
�� �����	 �� �

���
��	 �� 
�� �	
���

�����	 D *�
���
 
�� ���	
 (− 1
kx
,−1)/ ��� ���� kx� *� ���	� 
�� ��


Bkx :=

{
(x, y) | (x2 + y2

)1/2
<

1

2

√
1 +

1

k2
x

}
, !A/ �%

�/�/ 
�� ���� �� ������ ���� 
�� ���
�	�� 
� 
�� 	�,
 �,�� ���	
 (− 1
kx
,−1)/ '� �,�	� kx

�	� )����	� ĥ = γ
γ+1

h *� ��� ����	� �	� ���
� ������ ����	����� 8����	�) ��	�
��	�


� )����� Bkx �� � �����
 �� 
�� �����	 �� �

���
��	/ ��� 
�� ���� kx *� ��� 
�� ����

h �	� ��J��
 γ �������	���� 
� ��+� ���� 
��
 
�� ����� �� 
�� )��
�� ���� �� 	�
 �

���
��/ "���
��	����� 
� �� ���� ������
� �	 
�� ������ ��� 
�� ���������
� 8����	�)

��	�
��	�� *� ���
��� ��
���(� 
�� 8����	�) ��	�
��	 *� ��
 ���� ���)�	� !A/A% �	�

!A/@% ���	� ������	�
�-*��� �=	� �
���
��	� !�7"�% F@ G/ &�)�	 �	 �	�
��� ����� U
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������ A/$2 ��� ��
 �� ������
��� ��� *���� � �	� ������ ����	����� ��	 )����� 
��


�� ��
 Bkx ���	�� �	 !A/ �% �� � �����
 �� 
�� �����	 �� �

���
��	 �� 
�� �����	 ��
���
�� !A/$%� �� ���*	 �	 ���/ �	 ����	 �� 
�� ��
 
��
 	����� � @
� ������ ����	������
�	� �	 ���� �� 
�� ��
 
��
 Bkx �� �
��� � �����
 �� 
�� �����	 �� �

���
��	 ��
 �����
	�
 �� )������ �� � �	� �� @
� ������ ����	����� 8����	�) ��	�
��	/

��� 
�� 8����	�) ��	�
��	� �7"� ���)�� � ����	��� ������� !������� 
� !A/A%� 
�+�	�

ϕ = U% �� �
���
�	� ��
*��	 ���)�	� ��� 4?4 ���
������� �	� 
�� 8����	�) ��	�
��	

U � *���� ��,���(�	� 
�� ��(� �� � ������
 �����
 �� 
�� �����	 �� �

���
��	/

7� �������� ��� ����	����� 8����	�) ��	�
��	� �� ������ 
*� �	� ���� �	 �B��

��;���	
 ������
�� �����	�
��	� �	� 
�� �����
� ��� ���*	 �	 ������ A/$/ ��� �����

���*� 
��
 
�� �����
 ���
��� !
�� ���
��� �*�� ���� 
�� �������
��� �
 
�� ���	�-

�����% ��� ������� �/�/ �	�� 	��� � �	� ����� ����	����� 
� )����� Bkx�� �	 
�� �����	 ��

�

���
��	� *���� ������ ����� ����	������ ��� �������� ��� ��	� �� 
�� ������� ���
���

	��� 
�� ���	����/

&�	������ *� ��� ����
�� �� �����
�
��	�� ��*�� �	� 	�������� ������ *��	 ���	�

������ ����� ����	������ 
� )����� �����
� �� �����	 �� �

���
��	/ "	 ��
��	�
�)� *��

�� �������	� 
�� 
��� �� ������,�
� ��������� �� ��� �� �� �,�	� 
�� ������ �� 
��

����	����� 8����	�) ��	�
��	� �	� �������	� 
�� ��(� �� 
�� �����	 �� �

���
��	

)������ �� 
��
 ����	�����/ ��� ������� 
��
 ��(�� 
�� ���� ������, 
�� ���
��

��/ �� �� 
��� *� ���+ �
 
�� ���
�� !A/$%� �	� ��� *��
 ��(� ��
���
� �� �����	 ��

�

���
��	 *� ��	 ��
 ���	� � �	� ������ ����	����� �� � 8����	�) ��	�
��	/ "� 
��

������� �� 
�� ��(� �� 
�� �����	 �� �

���
��	 )������ Ω� *� *��� ��� ��,���� )����
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�� 
�� ������ �� 
�� 
�� ����

B(r) :=
{
(x, y) | x2 + y2 < r2

}

���� 
��
 B(r) ⊂ Ω /

�B�� ��;���	
 ������
�� �����	�
��	� *��� �	)��
���
�� �	� 
�� �����
� ��� ���*	

�	 ������ A/ �/ "���	� ��� 
�� ���� kx *� ���� 
�� ���� h �	� ��J��
�� γ �������	����


� ��+� ���� 
��
 
�� ����� �� 
�� )��
�� ���� *�� 	�
 � ���
��/ ��� ���	 �����)�
��	

�� 
��
 �� 
�� �������+ �
��	�
� ���� ��� �	� 
�� ���
�� ��
� ����� 
� 
�� 0���

�������
��	 �	 
�� ������
�� ����� !����� Rĥ% 
�� ������ �� 
�� )������ �����	 ��

�

���
��	 ��
� )��� �����/ 7��	 
�� ���
�� �� 
�� ����� 
� 
�� ���
���� ���	
 ��


�� 0��� �������
��	 !��* ����� ����	�� �	 k% 
�� 4?4 ���������	� ��		�
 )�����

�	�
��	� ������ 
��	 	�������� ����� 
�����	��/ ���� 	�������� �,������	
 ���)����

�)���	�� 
��
 ���� ������,�
� �� 
��� 
��� !������
���(�� �� 
�� ����� ��(� �� 
��

)�������� �����	 �� �

���
��	% ��� 
�� ���
�� ��� �� �	 �	����
��	 �� ��* ������� 
��

���
�� ��/

%�& ��
���
� 0	�
�� �� ����
��
�� 1��
�
�
��

7� ��)� ���*	 
��
 8����	�)-
��� ������
���(�
��	� �	� 4?4 �	� 4-��������� �����

����,�
��	� ��	 ���)��� ���� 	�������� ��
���
�� ��� � ����� ����� �� ���������� ������

�	 ��/ 1��� �� 
�� �����
� ����� �� ��
��	�� ���	� K������L� !�/�/� ����	� �����%

8����	�) ��	�
��	� *���� 	�
������ ����� �	� 
� ��+ *��
��� �	� ��	 �	���
������

��	�
���
 8����	�) ��	�
��	� 
��
 ��� �����	
��� 
� )����� 
�� �,��
�	�� �� 	�	
��)���

�����	 �� �

���
��	/ ��� � ������� �����
 �� 
�� ����� ����� ���� 8����	�) ��	�
��	�

��	 �� ��	�
���
�� �� 
�+�	� ��)�	
��� �� 
�� �
���
��� �� 
�� ���
��/ 7� ������� �

���	�� �� ������	�
�� �	 A/ �� 
��
 
�� �,�� ���	
 �� �	
����
 (x0, 1) �� �
 
�� �����	/
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������ A/ �2 ������,�
� �	� �����
	��� �� ����������/ !"% �B�� ��;���	
 ������
��
�����	�
��	� *��� �	)��
���
��/ Rĥ �� 
�� �����
	��� ������ *�
� ������
 
� ���
��-

��
��	� �	 
�� �������+ ������
�� ĥ/ �����	 �� �

���
��	 !��"% ������ ��
� ����� ��
Rĥ ��
� ����� !���
�� �� �������%/ ��� 
�� ���� kx *� ���� 
�� ���� h �	� ��J��
�� γ
�������	���� 
� ��+� ���� 
��
 
�� ����� �� 
�� )��
�� ���� *�� 	�
 � ���
��/ !'% A-�
�������	
�
��	 �� ��" ������ �� ĥ ���������� 
�� 0��� �������
��	/ !�% ��" ������

	������(�� ��
√

1
k2

x
+ 1 �� � ��	�
��	 �� 
�� ���
�	�� �� �������+ �
��	�
� ĥ ���� 
��

�������
��	 ��� kx =1� 2� 3.3� 4.7/ !�% <������ ��" ��� kx = 3.3/



B#

8�
 
�� 	�* ���
�� �� �������	
�� ��

˙̃x = f̃(ỹ) − g̃x(x̃)

˙̃y = 2g̃x(x̃) − f̃(ỹ) − g̃y(ỹ)

��� (x̃, ỹ) 
 − (x0, y0)/ �
 �� ���� 
� ��� 
��
 f̃ � g̃x �	� g̃y ��� J��
 ����
�� )�����	� ��

f � gx �	� gy �	� �� ���� ������)� ��	� �� 
�� �����
�	
 ������
���� �/�/� g̃x� g̃y ���

��	
�	���� ��	�
�	� �	������	� ��	�
��	�� *�
� g̃x(0) = 0, g̃y(0) = 0 �	� f̃(0) = 0/

��� ��	)�	��	�� �� 	�
�
��	 *� *��� ���� 
�� 
���� ��� 
�� ����	��� �� 
�� ���������	/

��� 
��� ���
�� ��
 �� ���	�

U(x, y) := Ux(x) + Uy(y)

Ux(x) := 2
∫ x
0
gx(ξ)dξ

Uy(y) :=
∫ y

0
gy(ξ)dξ

U(x, y) �� ����
�)� ���	�
� ��	�� gx(x)� gy(y) ��� ��	�
�	� �	������	� �	� U(0, 0) = 0

�	� ��
�����

d
dt
U(x, y) = 2gx(x)ẋ+ gy(y)ẏ

= 2gx(x) (f(y) − gx(x)) + gy(y) (2gx(x) − f(y) − gy(y))

= 2gx(x) (gy(y) + f(y)) − 2g2
x(x) − gy(y) (f(y) + gy(y))

= −2
(
gy(y)+f(y)

2
− gx(x)

)2

+ 1
2
(gy(y) + f(y))2 − gy(y) (f(y) + gy(y))

= −2
(
gy(y)+f(y)

2
− gx(x)

)2

− 1
2

(
g2
y(y) − f 2(y)

)
.

��	�����	
��� ��

Dy :=
{
y | g2

y(y) − f 2(y) > 0
}


��	

d
dt
U(x, y) < 0 ��� (x, y) ∈ R ×Dy\ {(0, 0)} .

&����
������� 
�� ��
 Dy �� 
�� ��
 �� ���	
� y ��� *���� 
�� ����� �� f ���� ��
*��	


�� ����� �� gy �	� −gy !������ A/  " % � ��	�� �� 
�� ��	�
�	���
� �� gy *� ��)�
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Verifiable

������ A/  2 ��� 8����	�) ��	�
��	 U(x, y) = Ux(x) + Uy(y) = 2
∫ x

0
gx(ξ)dξ +∫ y

0
gy(ξ)dξ �� ���� 
� ��
���
� 
�� �����	 �� �

���
��	/ !"% d

dt
U < 0 ��� 
�� ��
 ��

���	
� 
��
 
�� ����� �� f(y) ���� ��
*��	 
�� ����� �� gy �	� −gy/ !'% ��� ���
���
*�
� ������
�� )����� ��� *���� U(x, y) �� �����	
��� 
� )����� � 	�	
��)��� �����	 ��
�

���
��	 ��� ���*	 �	 ����/ ��� ����(�	
�� �,�� �� 
�� ����� �� gx(x) �
 
�� �,��
���	
� �	� 
�� )��
���� �,�� �� 
�� �
��	�
� �� �������+ ĥ = q + σ� *���� −σ �� 
��
����� �� f(y) �
 
�� �,�� ���	
/


�� �����*�	�

g2
y(y) − f 2(y) > 0 ⇒

⎧⎪⎨
⎪⎩
−gy(y) < f(y) < gy(y) ��� y > 0

gy(y) < f(y) < −gy(y) ��� y < 0.

8�


yM = sup
y

{
y | g2

y(ξ) − f 2(ξ) > 0, ∀ξ �/
/ 0 ≤ |ξ| ≤ y
}

�	�

Ny = {y | |y| < yM} ⊂ Dy.

7� ���
 	�
� 
��
 ��

σ = − ∂

∂y
f(y)|y=0 <

∂

∂y
gy(y)|y=0 !A/  %


��	 Ny �� 	�	���
�/ ���� ����� �� ������ �� ���*	 �	 ���� �	 ������ A/  '/ ��� β

�����)�� ��
 �� U � ΩU,β � �� �	 �	)����	
 �����
 �� 
�� �����	 �� �

���
��	 �� 
�� �����	

��� β < Uy(yM)� ��	�� d
dt
U(x, y) �� 	���
�)� ���	�
� �	 ΩU,β ⊂ R ×Dy/

7� ��)� ���*	 
��
 U(x, y) ��	 �� ���� 
� ��
 � 	�	
��)��� �����	 �� �

���
��	



>�

��
���
� ��� ���
��� ��
�����	� !A/  %� ��*�)�� ��)� 	�
 �����	
�� �	 ��* ��	���-

)�
�)� 
��� ��
���
� ��/ �	 ��	����� 
��� ��
���
� �� �����	 �� �

���
��	 !ΩU,β % �����

�� ��	���)�
�)� ��	�� �
 �� ������ 
� �� � �����
 �� 
�� K���������L ��
 R ×Ny/ ���

�����	 �� �

���
��	 ��
���
� ����
 �� �����)�� �� ���)�	� 
�� �����*�	� ��� 
�� ��)�	

U(x, y)

maxβ

st

2
(
gy(y)+f(y)

2
− gx(x)

)2

+ 1
2

(
g2
y(y) − f 2(y)

)
> 0

��� ��� 	�	(��� (x, y) ∈ {(x, y) |2 ∫ x
0
gx(ξ)dξ +

∫ y
0
gy(ξ)dξ ≤ β

}
,

!A/ �%

�/�/� *� ������ ��� 
�� ������
 �����)�� ��
 ΩU,β �� 
�� ��)�	 U ���� 
��
 U̇(x, y) < 0

��� ��� 	�	(��� (x, y) ∈ ΩU,β /

01����� �.$/ ,� !A/ % ��� gx(x) = x ��� gy(y) = y "�� �� �!����� ��� ��� ��������

�� ��� 
����� �� ���
�	���� 	������ ��
 ��� ��������� ������	
#����	�������	 ��
�����
�

�� h = 3� q = 1� γ = 2

1� h = 4� q = 2� γ = 2

��� )!�� ����� �� ����
��� �� �� (1, 1) ��
�� �� ����� ���� ����� �� ��� �
���� �� �

������ 	����� �� 	��
������� x → x + 1� y → y + 1 �� ������ !A/C%� ���� gx(x) = x�

gy(y) = y ��� f(y) = 3(y+1)
1+2(y+1)3

−1 ��
 ������	� � ��� f(y) = 3(y+1)2

1+2(y+1)4
−1 ��
 ������	�

1 ���� ��
 ���� ������	�� ��� "������� ���	���� �� U(x, y) = x2 + 1
2
y2 

,� ��� )
�� ������	� ��� �
��� �� f(y) ���� ����
��� ������� ��� �
���� �� −y ���

y ��
 y > −1 � ����
� / 9.�9� ���� ����� ���� ��
 β = 1
2

���

Rβ =

{
(x, y) |x2 +

1

2
y2 ≤ 1

2

}
,

�� � ������ �� 
����� �� ���
�	���� ����
� / 9.�.� ����� ���� �������� �� 
����� ��

���
�	���� ��
 ��� 	�

��������� ���	������ ����� !A/ % �� ��� �
�� ������ ��� ���������

����� �� 
�� �
�� ����� �� �
��� �� ��� �
�� ���
� d
dt
U(x − 1, y − 1) ≥ 0� ���	�

����� ���� �� 	�� ���
��� �� Rβ �� ������� !A/ �% 
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������ A/ �2 ��� ��	�
��	 U(x, y) = x2 + 1
2
y2 �� � 8����	�) ��	�
��	 ��� ��
� ���
���

�	 3,����� A/@/ ��� ���
�� ��	��
��	� �	 " �	� ' ����* ��� 
�� ��	�
���
��	 ��
�����	 �� �

���
��	 !��"% ��
���
�� ���*	 �	 ��� �	 "� �	� '�/ ���� ��
���
�� ��	
�� �����)�� �� ���)�	� !A/ �%� ��	�� U̇ < 0 �)���*���� ��
 
�� �����	 ���*	 �	 ����	
�	 "� �	� '�/



>�

��� ��	��� 	���� ��� �
��� �� f(y) = 3(y+1)2

1+2(y+1)4
− 1 ���� ����
��� ������� ��� �
����

�� −y ��� y ��
 y > −0.6575 � ����
� / 9.19� ���� ����� ���� β = 0.2161 ���

Rβ =

{
(x, y) |x2 +

1

2
y2 ≤ 0.2161

}
.

����
� / 9.1.� ����� ���� �������� �� 
����� �� ���
�	���� ��
 ��� 	�

��������� ����

	������ ����� !A/ % �� ��� �
�� ������ ��� ��������� ����� �� 
�� �
�� ����� �� �
���

�� ��� �
�� ���
� d
dt
U(x − 1, y − 1) ≥ 0� ���	� ����� ���� �� 	�� ����� ���
��� ��

Rβ �� ������� !A/ �% 

����� *�'�
� 
)  �������
� ��������� ��� 	

!�
 #�
�������


) f

0�* *��� U(x, y) ���	�� ���)� �������� ����	�� 	�
 J��
 �	 
�� ����� ������
���

�� f �
 ������������ ��
 ���� �	 �
� ������ ������
���� ����������� 
�� ����� �� 
��

����� �� f / 8�	��� �	������ �� 
�� �,�� ���	
 ��
����	�� 
�� �
��	�
� �� �������+

�
 ������������ ��
 �
 ����� 
�� ��
���� �� ��* 
� �������	
 
��� �������+ ��� ��

��

	�	-����� ��������	�� !�/�/� �*�� ���� �����������%/ �	 ��� ������ 
�� ���� �������+

�
��	�
� ĥ = γ
γ+1

h ��	 �� �����)�� �� ��;���	
 )����� �� 
�� ������
��� γ �	� h�

��
� �� *���� ����	� �	 
�� ��
���(�	� �	(��� ������
���/ 4���������� ĥ �	������

��
����	�� 
�� ����� �� f �
 
�� �,�� ���	
� �	� ��� 
�� ����� ������
��� �� �������+

��������� �	 ����
�� �/ 0�*�)�� ��;���	
 )����� �� γ *���� ����� ���
��� *�
� ����

������ )�������� �����	 �� �

���
��	 
��	 �
����/ ��� )����� �� γ, h 
��
 ��� 
�� ���


������ ��� �������	
�	� 
�� ��	
������ *��� ����	� �	 	�	-����� ��������	�� ���
�����

��+� ��	��
�)�
� 
� ������ ���	��� �	 
�� ���)��/ ��� �,����� gy ��� ���	�� �� �

�����
 �� 
��	�����
��	�� ������
��	 �� ���� �����	�� 
� �	)���	��	
�� ���	���/ ���

�����*�	� �,����� �����
��
�� 
�� ��	�����	��� �� ��;���	
 �������	
�
��	� �� 
��

���� �������+ �
��	�
�/

01����� �.'/ ,� !A/ % ��� gx(x) = x� gy(y) = y� q = 1 ��� ��� ��
����� �� �����

��	
 �� ��� )!�� ����� (1, 1) �� ĥ = γ
γ+1

h = 1.8 "�� 1�$ ��� 2 �� ��
�� ��7�
���
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������ A/ A2 ����� ��;���	
 �������	
�
��	� �� 
�� ���� �������+ �
��	�
� ĥ = 1.8
��� !A/ % *�
� gx(x) = x� gy(y) = y �	� q = 1/ !"% ��;���	
 hI� �	� γI� ����

� ��;���	
 ������ ������
��� �� 
�� ��������	��	� ��
���
���
�� ����
��	 ��
� f(y)/
!'����% ��;���	
 ������ ������
��� �� f ���� 
� ��;���	
 ����)��� �	 
�� )���	�
� ��

�� �,�� ���	
 �	� ��;���	
 ������,�
��� �� ��
���
�	� �����	� �� �

���
��	 !��"% /
��� ���� ���*	 �	 ����	 �� 
�� ���� *���� 
�� 
�� 8����	�) ��	�
��	 ���� 
� ��
���
�

�� ��"� ��� 	�	-	���
�)� 
��� ����)�
�)� ! d

dt
U ≥ 0%/
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��������������� �� ���� ĥ� ���
� hB = 3� γB = 1.5: hC = 2� γC = 9: ��� hD = 5�

γB = 0.5625 "����
�� ����� / ��������������� �
� ������	��� ������
 ���� ���� ����

��
��� ������ ���������
� �
���
���� �� ��� 	�

��������� ����	�������	 
��	���� 
���

f(y)� �� ����� �� ����
� / 9/� ���� ����� �� ��7�
��� �������
 �� ��� ��	����� �� ���

)!�� ����� ��� ��
��
 �� �������� 
����� �� ���
�	���� ��
 ��������������� $ ��� 2

�����
� / 9/� 

%�) ,���
��

��� ����� ��������� �� 3���
��	 !A/ % ������
� 
��
 
���� ��� 
*� ����� �����	����


��
 ��	 ����� ���������� 
� �����6 ������� �� 
��	�����
��	�� ������
��	 �� �)���� ��-

������)� �����
���� ������
��	/ ��� ���
 ���	���� ������ *��	 
�� ���* 
��	�����
��	��

������
��	 ����� 
� ���)�	
 
�� ���
�� ���� ���	� �	
� �!	% !�	)����	
% ������ *����


�� ��	����
��	 �� "�
 !y% �� ���
�� 
��	 �
� ������
��	/ ���� ��	 �� ������ ��

� �����	 ���� �	 
�� �	��
 
� 
�� ���
�� !�������% �� �	 �	������ �	 "�
 ����	�/

3�
��� ��	��
��	 ������ 
�� ���
�� 
� �����
� ��� �� �
� "�
 �����)��� *���� �����
�

�	 ��� �� 
�� ��	��	
��
��	� ���	� 
� (��� �	� 
��� ���� ���
�/ ��� �)���� ��������)�

���
 �����
���� �������+ ��	��
��	 ��	 �� ������ �� ����� �	 
�� ��
���(�	� �	(���

��	��	
��
��	�/ 1��
 �� 
�� 
��� ��������)� �������+ ����� 
� �������
��	� �	 "�


��	��	
��
��	/ 0�*�)��� �	��� ���
��	 �������
�	���� �� 
�� ����� �	 �	(��� ��	��	-


��
��	� ��� 
�� ��)���� 
�� ���	�
��� �� �������
��	� �	������� 
� 
�� ���	
 
��
 �

�������	�� �������
��	 ������ �����	� 
�� ��
�*�� 
� �����/

"	������ �� ���
�� !A/ % ���*� 
��
 �����
���� �������+ ������
��	 ��	 ��������


�� ����
�)� �������+ ��	���
�� �� ��
���
������� 
��� �����	
���	� ��
� 
��
 
��


��J��
����� �� 
�� ���
�� ��� ���	��� �	� 
��
 
�� ��	��	
��
��	� �� 	�
 ���* ��

��� �	� �	�
��� ��	��
��	�� �� *��� �� 
�� ����� �
�����
� �� 
�� �����
�	� �,�� ���	
/

4�����
��	� �� 
�� ���
�� ���* 
��
 
�� �����	 �� �

���
��	 �� 
�� �,�� ���	
 *����


�� ���� �����
�� �� ������ *���� ���	� 
��
 ���������� �� 	�
 ��	��
�)� 
� ���
����
��	

�	 
�� ��	��	
��
��	� �� 
�� ������
� �	� ����
�	
� !�/�/� ���
����
��	 �	 �
�
� �����%/

�� 
�� ��	����� �� !A/ % ��� ��
��	�� ��	�
��	� �� 
�� �
�
�� 
�� ��(� �� 
�� �����	
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���
��	 �� 
�� �,�� ���	
 ��	 �� ��
���
�� �� ��
���(�
��	-����� �������
��	�

���	� 8����	�) ��	�
��	� �	� 4?4 ���������	�/ ����� �������
��	� ��)��� 
��


��* ������ ����	����� 8����	�) ��	�
��	� ��	 )����� �����	 �� �

���
��	 ����
��

������
��� ��� � *��� ��	�� �� ������
���/ ��� �,������ ���
��� *���� �����
�	�

���	
 �� �����
�� �
���� *�
� ������
 
� ���
����
��	� �	 ������
�� )����� ��� ������


� )������ �/�/� � ����	� ������ ����	����� 8����	�) ��	�
��	 )������ ����� �	)����	


�����
� �� 
�� �����	 �� �

���
��	 �� 
�� �,�� ���	
/ �	 ���
� ����	����� 8����	�)

��	�
��	� �� ������ ������ 
��	 � ��� �	�� 	�������� ��� ���
��� *���� ������
��

)����� ���� ����� 
� 
�� �
�����
� ���	���� �	 
�� ������
�� ������ *���� ��� �������

	�
 �����
 �� ����� ���	��� �	 ������
��� ��� �����
 �	 
�� �	�
�����
� �� 
�� �,��

���	
/

7� ���	� 
�� ������,�
� �� � �����(�
��	 �� ����� !A/ % �� 
�� ������,�
� �� 
��

)��
�� ���� �	 
�� 	����������� �� 
�� �����
�	� ����������� ���	
/ 7� 
��	 ��)����


*� ����
�� ���������� �� ���	
����	� 
��� )��* �� ������,�
� �� ���	� ��
��� 
��

�������
 ����� ����	����� 8����	�) ��	�
��	 	����� 
� )����� � ������� ��
 �� �	 �	-

)����	
 �����
 �� 
�� �����	 �� �

���
��	� �� 
�� ��(� �� 
�� �����	 �� �

���
��	 )������

�� � ������� ����� ����	����� 8����	�) ��	�
��	/ 7� ������� �����(�
��	� 
��
 ���

K
������������ ����)���	
L� �/�/ �����(�
��	� 
��
 ��)� 
�� ���� 	����� �	� ����
��	 ��

�,�� ���	
� �	� 
�� ���� ��(�� �� �����	 �� �

���
��	/ ���� �����*��+ ��)���� 
��


������, ���
��� ��� �������� �/� 
��� ��� )��� ����� 
� �	�
�����
� �	 ������
�� �����/

?)������ 
�� ������ �	������ �� 
�� ����� ��������� �� 3���
��	 !A/ % ��	����


��
 �������
��	� �	� ������� �	 ���������� ��� 	�
 ������ �� ���
����
��	� �	 �
�
�

����� !�/�/� ���
����
��	� �	 
�� ��	��	
��
��	� �� 
�� ������
� �	� ����
�	
�%� ��


��
��� ���
����
��	� �	 
�� ������
�� ����� !�/�/� ��
���
�� �	(��� ��	��	
��
��	��

���������� 
� 
�� ��
�*��� "�
 ����	�� �� 
������
���% �� �����)�� �	 
�� ��
���
���

F @� >� �@� A � AA� A#G/ ���
������� 
�� �
���
��� �� 
�� ����
��	� �	����� �� 
�

�	���
������ ��	�
���
 8����	�) ��	�
��	�� 
��
 ��� �����	
��� 
� )����� � 	�	
��)���

�����	 �� �

���
��	 ��� � ������� �����
 �� 
�� ����� �����/ ��� ��(� �� 
�� )������

�����	 �� �

���
��	 ����	�� �	 
�� ������ ������
��� �� f(y) !*���� �� 
�� ��
� ��


�� ��
���
���
�� ����
��	 �	� ���
���� 
�� �
��	�
� �� �������+%� �	� 	�
 J��
 �	 �
�



>>

������
��� 	��� 
�� �,�� ���	
/



>C

������� $

%�
��� �����
����� #�	�� ��

������������� "������


&�� "���� ��
�� �4# $� 	�

"�
���
���
�� ��
�*��� �	 ��	���� !�	� ����������� ����������% ��� �������� �� �

����	 �� �	(���
������ ��
���(�� �	
�������
� ����
��	�/ �	 
�� ���)���� ����
��� *�

�
����� 
�� ������
��� �� ���� ��
�*��� 
������ � �� ����� ��)�	 �	 !A/ %� *���� ��

��
��	�� �� ��������	� ��� 
�� �	
�������
� ����
��	� !��	+� �	 
�� ����	% �	
� � ��	���

�	
�������
� ����
��	 !������ �/ %/ �	 
��� ����
�� *� ��	����� ������ 
��
 �,�����
��

�����	
 ��� 
�� �	
�������
� ����
��	�/ ��	����� 
�� ��
���
���
�� ��
������ ��
�*��

*�
� ���
���� �	
�������
� ��
�����
� ����
��	�

u+ ay ⇀f x1 ⇀
g1 x2 ⇀ · · ·⇀ xn ⇀

gn (b+ a)y

y ⇀gy ϕ.
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��� ��������	��	� ?�3 !�	 
���� �� 
�� �
��������
�� ��
��, �	� ����
��	 H�,��% ��

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

ẋ1

ẋ2

///

ẋn

ẏ

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

=

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

1 −1 0 0 0

0 1
/ / / 0 0 0

///
/ / / / / /

///

0 0 1 −1 0

−a 0 · · · 0 b+ a −1

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

f(y)

g1(x1)
///

gn−1(xn−1)

gn(xn)

gy(y)

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

!@/ %

��� xi ≥ 0� y ≥ 0� *���� ��� ��� i� gi� gy ��� ��	
�	����� ��	�
�	�� �	������	� ��	�
��	��

*�
� gi(0) = 0 �	� gy(0) = 0� �	� f(y) = V yq

1+γyh �� 
�� ���� �� �	 
�� �� �����/ "�

�	 
�� �� ����� �
 �� ���� 
� ��� 
��
 
�� ����
�)� ��
��	
 �� �	)����	
 *�
� ������
 
�


�� H�* ��	�� !�*�� ���� 
�� �����	%

x1 = 0 ⇒ ẋ1 =
V yq

1 + γyh
≥ 0,

xi = 0 ⇒ ẋi = gi−1(xi−1) ≥ 0, ��� 2 ≤ i ≤ n

y = 0 ⇒ ẏ = (a + b) gn(xn) > 0.

��	����� 
�� ���� a = b = 1 !
�� �����
� ������ ��	�����(� 
� �	� a, b > 0%/ 8�


0 ≤ ȳ1 < · · · < ȳl �� 
�� ����
��	� �� f(y) = gy(y) �	 
�� ����
�)� ��
��	
/ 7� *���

������ 
��
 ∀i�
sup
xi>0

gi(xi) > sup
0<y<ȳl

V yq

1 + γyh
.

���� �����	
��� 
��
 
���� ��� l �,�� ���	
� �	 
�� ����
�)� ��
��	
 ��)�	 ��

(
g−1

1 (f(ȳj)) , . . . , g
−1
n (f(ȳj)) , ȳj

)
, ��� 1 ≤ j ≤ l.

"� ��������� �	 ����
�� A ��� 
�� �� ���	
�����
� 
���� ��� A ���	 �	�
�	���� l = 1�

l = 2� �� l = 3/

�� l = 1� 
��	

gy(y) >
V yq

1 + γyh
, ∀y > 0
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 �� �
 
�� �����	/ ��� ����)��� �� 
�� ���
�� �� ������� ��	��

�� �	 
�� �� ����� 
�� �����	 �� �������� �����
�
������ �
����/

 ����
����� $.�/ ,� gy(y) >
V yq

1+γyh , ∀y > 0 ���� ��� )!�� ����� �� !@/ % �� ��� �
����

�� �������� ���������	���� ������ 

������ 8�
 �� ��	����� 
�� �����*�	� ��	�
��	

U(x1, . . . , xn, y) = 2

n∑
i=1

xi + y.

U �� ����
�)� ���	�
� ��	�� U(0) = 0 �	� U(x1, . . . , xn, y) > 0 ��� x1, . . . , xn, y ≥ 0�

(x1, . . . , xn, y) �= 0/ U �� �������� �	���	��� �	�

U̇(x1, . . . , xn, y) =
V yq

1 + γyh
− gy(y) < 0

��� y > 0/ �	)����	�� �� 
�� ����
�)� ��
��	
 �	� � ������ �������
��	 �� 8�4����I�


������ ���)� 
�� �����
�
�� �
�����
�/ �

"� ������� 
��� ���	� 
��
 �� gy(y) >
V yq

1+γyh , ∀y > 0 
�� ��
�*�� *��� ����� �	� 
��

���� *��� ���/ �
 �� � ��	�����	�� �� 
�� ��
�*�� ��	����	� "�
 !y% ���
�� 
��	 �
 ��	

�������/ ��� ���� ��	 �)��� 
��� ���	���� �� ������	� "�
 ��	����
��	 �� �	������	�

"�
 ������
��	 )�� 
��	�����
��	�� ������
��	/

���� 
��� ���	
 �	 *� *��� �	�� ��	����� 
�� ����� *���� l > 1/ 8�
 (x̄1, . . . , x̄n, ȳ) �
0 �� 
�� �,�� ���	
 �� �	
����
� �	� ki = ∂gi

∂xi
|x̄ > 0� ky = ∂gy

∂y
|ȳ > 0� ry = gy(ȳ) > 0�

σ = −∂f
∂y
|y=ȳ/ 3������ ���� �� ����
������ ��
 ��� 
��� �� ��� 	�����
 �� ������ ����

ȳ = 1/ ���� ������� 
��
 V = ry (1 + γ)� σ = ry(ĥ − q) *���� ĥ = γ
1+γ

h� �	� 
��

��	����(�
��	 ����	� 
�� ����������� ���	
 ��

⎡
⎣ ẋ

ẏ

⎤
⎦ = J

⎡
⎣ x

y

⎤
⎦ , !@/�%



C�

��� x ∈ R
n� y ∈ R� *����

J :=

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

−k1 0 · · · 0 0 ry(q − ĥ)

k1 −k2 0 0 0
/ / / / / /

///
///

0 0 −kn−1 0 0

0 0 kn−1 −kn 0

0 0 · · · 0 2kn −ky − ry(q − ĥ)

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
.

&�� (
�	
� ,�
!
�
��

�� ĥ > q� *� ��	 ����� � ����	
 ��	��
��	 �� � ��=���	
 ��	��
��	 ��� 
�� �
�����
� ��

!@/�% ����)�� �� FA$� @AG/ ��� !@/�% 
��� ����	
 ��	��
��	 ����	�
��
�� 
��
 ���

2ry(ĥ−q)
ky−ry(ĥ−q) <

(
sec π

n+1

)n+1
!@/A%


��	 !@/�% �� �
����/ 8�


θ(n) :=

(
sec

π

n + 1

)n+1

,


��	 !@/A% ��)�� �	 ����� ���	�

ĥd(n) = q +
ky
ry

θ(n)

2 + θ(n)

�	 
�� �������+ ���	 ĥ 
��
 �����	
��� ��	��� �
�����
�/ ��� ����� ���	� ĥd(n)

����	�� �	 
�� ��
�*�� ��(� !n%� "�
 ��	����
��	 !ky� ry% � �	� 
�� ��
���
������

������
��� !q%� ��
 	�
 �	 
�� ��
� ki �� 
�� �	
�������
� ����
��	�/ �
 ���� ������
�


��
 �� 
�� ��
�*�� ��(� !n% �	�������� 
�� ��,���� ����*���� �
�����(�	� �������+

���	 ���������/

��� �����*�	� �������
��	 ��)�� 
���
 ���	�� �	 
�� ��	�� �� �������+ ���	� 
��


�����	
�� �
�����
� ��� �	� ��
�*�� ��(� �	� �	
�������
� ����
��	 ��
��/

 ����
����� $.�/ ��� "�� ĥr := q+ 1
3
ky

ry
��� ĥs := q− ky

ry
 ,� ĥs < ĥ ≤ ĥr� ���� !@/�%

�� ������ ��
 �
���
�
� ���� �n� ��� �
���
�
� ������ �� ����
������� 
��	���� 
���� �ki� 
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��� ��� ������ ����� �
� ������ � � ��
 ��� ���� ĥ /∈
(
ĥs, ĥr

]
� ���
� �!���� ��

�������� ������� 

������ 8�


Q :=

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

−k1 0 · · · 0 0 2ry(q − ĥ)

k1 −k2 0 0 0
/ / / / / /

///
///

0 0 −kn−1 0 0

0 0 kn−1 −kn 0

0 0 · · · 0 kn −ky − ry(q − ĥ)

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
,


��	 
�� .������	 ��)�	 �	 !@/�% ��
�����

J =

⎡
⎣ In 0

0 2

⎤
⎦Q

⎡
⎣ In 0

0 2

⎤
⎦
−1

,

*���� In �� 
�� n × n ���	
�
� ��
��,/ ��	�����	
�� J ��� 
�� ���� ����	)����� ��

Q/ 4�	��

det J = (−1)n+1
n∏
i=1

ki

(
ky − 3ry(q − ĥ)

)

�	� 
�������� J ��� 	� (��� ����	)����� ��� ĥ �= q− ky

ry
� 
�� �
�����
� �� Q ��	 �� ������

���*	 ���	� �����	�� ����	�	�� F CG/ ����� ��� 
*� �����

����  2 ĥ < q

��� ��	��
��	 ��� �
�����
� ��

ky + ry(q − ĥ) > 2ry(q − ĥ) ⇔ ĥ > q − ky
ry

= ĥs.

���� �2 ĥ > q

��� ��	��
��	 ��� �
�����
� ��

ky + ry(q − ĥ) ≥ −2ry(q − ĥ) ⇔ ĥ ≤ q +
1

3

ky
ry

= ĥr.
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!�% ��� ĥ ≤ ĥs� �	�
���� ���
��� ��	 �� ��	�
���
�� �� �	 
�� �� ���� !����
�� �%/

�	 ����� 
� ��	�
���
 �	 �	�
���� ���
�� ��� ĥ > ĥr� ��
 ε > 0� ĥ = ĥr + ε �	� ��� ��� i

ki = ky + ry

(
q − ĥ

)
=

2

3
ky − εry = k > 0.

��� ������
����
�� ����	����� �� !@/�% ��

pJ(s) =
(
s+ ky + ry

(
q − ĥ

))∏n
i=1 (s+ ki) − 2ry

(
q − ĥ

)∏n
i=1 ki

= (s+ k)n+1 − kn
(
2ry

(
−1

3
ky

ry
− ε
))

= (s+ k)n+1 − kn
(−2

3
ky − 2εry

)
= (s + k)n+1 + kn (k + 3εry)

3���	)����� λi ��� 
�� ���
� �� 
�� ����	����� pJ(s)� �� λ = k (ω − 1) ���� 
��


ωn+1 =
(−1 − 3ε ry

k

)1/(n+1)
= (−1 − ε1)

1/(n+1)

*���� ε1 := 3ε ry
k
/ ��� ���� ���
 �� 
�� ����	)����� λi� 0 ≤ i ≤ n ��

�(λi) = k

(
−1 + (1 + ε1)

1/(n+1) cos

(
π

n + 1
+

2πi

n+ 1

))

8�


γ(n) = (1 + ε1)
1/n cos π

n

= 1 + 1
n

log(1 + ε1) +O( 1
n2 ).

���� ������� 
��
 
�� ���
�� �� �	�
���� ��	�� ��� n ��� �	����

γ(n) > 1 ⇒ �(λ0) > 0. �

(����� $.�/ ��
 ����
�� ����	������
� �� ����	�������� �� � a > 0, b > 0 �� !@/ %�

ĥr = q + b
2a+b

ky

ry
��� ĥs = q − ky

ry
 

" ������ �� �����)�
��	�

• ĥr = limn→∞ ĥd(n)
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ĥ

Stability Conditions for Feedback Gain
(2D Pathway)

 

 

UNSTABLE

STABLEĥd
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h
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h
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h
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B

������ @/ 2 !"% ��� �
�����
� ��	��
��	� ��� � �� ����� *�
� q = 1, ky = 1 ��� ��	����

�������+ �
��	�
� ĥ �	� �	
�������
� ����
��	 ��
� kx/ ��� ���� ���� ���+� 
�� ��
 ��
������
��� 
��
 ���	� �
���� ���
���/ ��� ���� ��
*��	 
�� ���� ��	�� ��������	��

� ���
��� 
��
 ��	 �� )������ 
� �� �
���� ���	� 
�� ����	
 ��	��
��	 !@/A%/ ��� ����
��
*��	 
�� ��� ��	�� ��������	�� 
� ���
��� 
��
 ��	 �� )������ ���	� 
�� ���	��
���� 
������
��	 @/�/ !'% "� 
�� ��
�*�� ��(� �	�������� 
�� ����� ���	� �	 
��
�������+ �
��	�
� ĥ ��)�	 �� 
�� ����	
 ��	��
��	 ��
� �������/

• ��� ���	�� ĥs, ĥr �	 ĥ ��� �����
 
� ���	��� �	 
�� ��
� �	� 	����� �� �	-


�������
� ����
��	�� ��	�� 
��� ����	� �	 
�� �
��������
�� �	� �
��	�
� ��

��
���
������ !a, b, q%� �	� 
�� ����	� �� "�
 !ky, ry%� ��
 	�
 �	 
�� �
���

������
���/


������
��	 @/� �
�
�� 
��
 
�� ���� �� �
�����
� ��� �)��)���� ��
�*��� *�
� K�,��L

��
���
������ �	� "�
 ��	����
��	 ���)�� �� �����)����/ '�
� 
�� ����	
 ��	��
��	

���	� ĥd �	� ĥr ��� ��	���)�
�)�� ���������� ��� ���� �	
�������
� ����
��	 ��
�� ��

������ @/ " �����
��
��� ��	�� 
��� ���)��� �����
	��� 
� �	
�������
� ����
��	 ��
�

H��
��
��	�/ 8�
�� �	 
��� ����
�� *� *��� ��)���
 
���� ���	��/

&�% �	�����
��	

"� �	 ����
�� �� ��������	�� �� ���	�� �� 
�� �����
� �� 
�� ��	
��� �����	���� 
�

���	
��	 
�� ��
�*�� ����� 
� �
� �
�	���� ���������� �����
�	� ���	
 �	 
�� �����	�� ��

���
����	��� �	� ���	
 �	���
��	
�/ 7� ��* �	 ����
�� � 
��
 ��������	�� �� ���	��

���)� ��	 �� ���
 �	���(�� �	 
�� ������	�� �����	� ��	�� ��	� �� 
�� ��������	��
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���
���� ��� ���
���� �� 
�� ��	��
�)�
� ��	�
��	 S/ �
 ������ �� 	�
�� 
��
 �������	�

��
�*��� �� ��;���	
 ��(�� �� �������� ������� �� 
�� 	������(�
��	 �� 
�� �
���� �
�
�

)���� �� 
�� ��
��
 !
� 1%/ 4�	�� *� ��� �	
����
�� �	 ���	
��	�	� 
�� ��	��	
��
��	

�� 
�� ��
��
 �� 
�� ��
�*�� y �
 � ������� �
���� �
�
� )����� ���� 	������(�
��	

�	� ��������	�� ���������	 �� ���������
�/

�	 �
�	���� ��
��
 �������+ ��	
��� ����� !@/�% �������

ẋ = Ax +Bu

z = Cx

u = −ĥCx

*����

A =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

−k1 0 · · · 0 ryq

k1 −k2 0 0
/// · · · ///

0 0 −kn 0

0 0 · · · 2kn −ky − ryq

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

B = ry

[
1 0 · · · 0 −1

]T
C =

[
0 0 · · · 0 1

]
.

���	

P (s) = C (sI − A)−1B

= ry
∏n

i=1(ki+s)−2
∏n

i=1 ki

(ky+qry+s)
∏n

i=1(ki+s)−2qry
∏n

i=1 ki
.

!@/@%

��� ���=���	
� �� 
�� 	�����
��

n1(s) =
∏n

i=1 (ki + s) − 2
∏n

i=1 ki

= sn + (k1 + · · · + kn) s
n−1 + · · · + (−∏n

i=1 ki)

�� P (s) �� 	�
 ��)� 
�� ���� ���	/ ���� ���	� 
��
 
�� ����	����� n1(s) �� 	�


0��*�
( �
���� �	� 
�������� P (s) ��� �
 ����
 �	� (��� �	 
�� ����
 ����-���	� !�0
%/

���� ������� 
��
 
�� ������� ���� �� 
�� '��� ��	��
�)�
� �	
����� !�/$% ����� ��� 
��
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������ @/�2 !"% ��� ���	�
��� �� 
�� �0
 (��� ��������� �� ��
�*�� ��(� �	�������/
!'% ��� *����
 �	 
�� '��� �	
����� ��
� 
���
�� ����	� 0 ��� ��	��� ��
�*���/ ����
���	� 
�� ����� ���� ��� ��������	�� �
 ����� ������	���� �	������� ����
�	
����� ��

�� 	����� �� �	
�������
� ����
��	� �	�������/

	-� ��
�*��/

8�
 �� ���+ �
 
�� ���� *���� ki = k� ��� ��� i/ ��� (���� �� P (s) ��� �


s =
(
2

1
n − 1

)
k

= k
(∣∣∣2 1

n

∣∣∣ ej 2πi
n − 1

)
, ��� ��� i.

"� �,���
��� 
���� �� �
 ����
 �	� (��� �	 
�� �0
/ ��� ���	�
��� �� 
��� �0
 (���

��������� �� 
�� ��(� �� 
�� ��
�*�� !n% �	������� !������ @/�"%/ ���� ���
� �������

*�
� 
�� ��	���)�
��	 ��* ��)�	 �� !�/$%� ������� 
��
 �� 
�� 	����� �� �	
����-

���
� ����
��	� ���*� 
�� ����� ���� ��� ��������	�� �
 ����� ������	���� �	�������

����
�	
����� !������ @/�'%/ ���
�������� 	�������� ������
��	� ��	��� *��
 !@/A%

������
�� 
��
 �	 ��	���� �� 
�� ��
�*�� ��(� �	�������� 
�� ����� ���	� �	 
�� ����-

���+ �
��	�
� ĥ ���������/ 4� 
�� �	������ �	 
�� �	
�������
� ��
�����
� ����
��	�

��� 
*� ���	 ��	�����	���/

• ��� ����� ��� ���� ��������	�� �
 ��* ������	���� �	������� �� 
�� ���	�
���

�� 
�� �0
 (��� ��
� �������/

• ��� ����� ���	� �	 
�� �������+ ���	� ��
� �������� �� 
�� ��	�� �� �
����

���	� ��
� �������/
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������ @/A2 ��� ��������	�� �� ��� A� �	� @� ���
��� �� ��������/ ��� �	
��-
�����
� ����
��	 ��
�� ��� k1 = k2 = k3 = 1 �	� q = 2, ky = ry = 1/ !"% 
��
 ��

log |S| ��� 
�� ���� �������+ ĥ = 3.8� ���*� 
��
 
�� ������ ����	���	 ���
��� ���
� ������ ����� �
 ������ ������	���� ��� ������� ��������	�� �
 ��* ������	���� !'%
������-���� ���
�� �
�� �����	�� ���*� 
��
 
�� ���� ���	 ĥ = 3.8 ������ 
�� ����
�
���� �
�
� ����� ��� ��� A ���
���/ 0�*�)�� ������ ����	���	�� ���
��� ��)� ������

��	���	
 �����	��/ !�% 8�*�� ����	���	�� ���
��� ��)� ������ 
� ������ ���	�� *����
���	� 
��
 
��� ��	 ��
 ��

�� ��������	�� �
 ��* ������	����/ ��� ���
 �� log |S| ���
ĥ = 5.5, 4, 3.8 ��� ��� A�� �	� @� ���
��� ������
�)���� �����
��
�� 
�� ��;���	�� �	
��������	�� �
 ��* ������	����� �	� 
�� ����� ���� �
 ������ ������	���� !����������
��� ��� A ���
���%/ !�% ������-���� ���
�� �
�� �����	�� ���*� 
��
 ������ 
� ������
���	� ��� 
�� ��* ����	���	 ���
��� !ĥ2D = 5.5, ĥ3D = 4, ĥ4D = 3.8% �����)�� �������
�
���� �
�
� ����� �	� ��

�� 
��	���	
 �����	�� �� *���/
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��� �,����� ���+ �
 
�� �� ���	 !�
���� �
�
� �����% �� � 	-� ���
�� *�
� q = 2, ky =

ry = 1/ ���� !@/@% *� ��
 P (0) = 1 �	� 
�� �� ���	

S(0) =
1

1 + ĥP (0)
=

1

1 + ĥ
.

�
 �� ����� 
��
 
�� �� ���	 �����)�� �� 
�� ���	 �	�������� ��*�)�� 
�� ��,���� ĥ


��
 �
��� �
�����(�� 
�� ���
�� ��
� ������� �� n �	�������/ ��������� ��*�� ����	���	��

���
��� ��	 �����)� ��

�� �� ���	 !�
���� �
�
� �����%/ ������ @/A �����
��
�� 
��

��	�����	��� �� �	������� ��
�*�� ��(� �	 
�� ��������	�� �� 
�� ���
�� �� ���+�	�

�
 log |S| �	� 
�� �
�� �����	�� ��� ���������� ��� A� �	� @� ���
���/

&�& ���!
� �	�
5
��

D�,
 *� ���)� 
�� �	������ �� 8���� A/ ��� 
�� 	-� ���
��/ 7� *��� ������ V yq

1+γyh

�� ���	��� ��� ��� y > 0� !�/�/ h ≥ q% �	� ��� ����� ε > 0 �

supy>0 gy(y) > supy>0
V yq

1+γyh + ε

supxi>0 gi(xi) > supy>0
V yq

1+γyh + ε, ��� ��� i = 1, . . . , n

�	�

δy := supy>0
V yq

1+γyh <∞
β0 := inf

{
y0 | gy(y) − V yq

1+γyh > ε, ∀y > y0

}
α1 := inf {x1|g1(x1) > δy + ε}
αi := inf {xi|gi(xi) > gi−1(αi−1) + ε} , ��� ��� i > 1.

8�


Uy (x1, . . . , xn, y) := y +
∑n

i=1 2xi

η0 := β0 +
∑n

i=1 2αi

ΩUy ,η0 := {(x1, . . . , xn, y) ∈ R
n+1 | Uy (x1, . . . , xn, y) ≤ η0} .
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�	�

D1 := {(x1, . . . , xn, y) ∈ R
n+1 | 0 ≤ x1 ≤ α1}

Di := {(x1, . . . , xn, y) ∈ R
n+1 | 0 ≤ xi ≤ αi}

⋂
Di−1, i > 1

Dα,β0 := ΩUy ,η0

⋂
Dn.

����� $.�/ ��� ��� �
�+�	��
��� �� ������ !@/ % �
� ������� ��� ���������� 
��	�

Dα,β0 

������ 7� ��� ���	� 
� ���* 
��
 ���� �� 
�� ��
� Di !������ @/@% ��� �	)����	
 *�
�

������
 
� 
�� H�* !@/ % �	� 
��
 ��� 
�� 
��J��
����� �� 
�� ����
��	� �� !@/ % �����

Di� �� ���	� 8����	�) 
��� ��	�
��	�

Ui (x1, . . . , xn, y) = xi.

�	 
�� ����
�)� ��
��	
 Ui ��� ����
�)�� C1(Rn+1) ��	�
��	�/ ��� x1 > α1

d

dt
U1 (x1, . . . , xn, y) =

V yq

1 + γyh
− g1(x1) < −ε.

4� 
�� ��
 D1 �� �	)����	
 *�
� ������
 
� 
�� H�* !@/ % �	� ��� 
�� 
��J��
����� ��

!@/ % ����� D1/ 9��	� �	���
��	 ��� xk > αk �	� (x1, . . . , xn, y) ∈ Dk−1

d

dt
Uk (x1, . . . , xn, y) = gk−1(xk−1) − gk(xk) ≤ gk−1(αk−1) − gk(xk) < −ε.

4� 
�� ��
 Dk �� �	)����	
 *�
� ������
 
� 
�� H�* !@/ % �	� ��� 
�� 
��J��
����� ��

!@/ % ����� Dk� k ≤ n/

8�


Uy (x1, . . . , xn, y) = y +
∑n

i=1 2xi

η0 = β0 +
∑n

i=1 2αi.

��� (x1, . . . , xn, y) ∈ Ωc
Uy ,η0

⋂
Dn *� ��


y > β0 +

n∑
i=1

2αi −
n∑
i=1

2xi ≥ β0
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Dα,β0

������ @/@2 ������	� �����	 ��� A�

�	�
d
dt
Uy (x1, . . . , xn, y) = ẏ +

∑n
i=1 2ẋi

= V yq

1+γyh − gy(y) ≤ −ε < 0

��������� 
�� ��
 Dα,β0 = ΩUy ,η0

⋂
Dn �� �	)����	
 *�
� ������
 
� 
�� H�* !@/ % �	�

��� 
�� ����
��	 
��J��
����� �� !@/ % ����� Dα,β0 / �

" ��	�����	�� �� 8���� @/ �� 
��
 
�� ���
�� ��	 ������� �������
��	� �� ����
��

����)��� �	�� �	���� 
�� �����	 Dα,β0/

&�) 0	�
�� �� ����
��
�� 1��
�
�	�

7� ������� � ���	�� �� ������	�
�� �	 !@/ % �� 
��
 
�� �,�� ���	
 �� �	
����


(x̄1, . . . , x̄n, ȳ) �� �
 
�� �����	/ 8�
 
�� 	�* ���
�� �� �������	
�� ��

˙̃x1 = f̃(ỹ) − g̃1(x̃1)

˙̃x2 = g̃1(x̃1) − g̃2(x̃2)
///

˙̃y = 2g̃n(x̃n) − f̃(ỹ) − g̃y(ỹ)

��� (x̃1, . . . , x̃n, ỹ) 
 − (x̄1, . . . , x̄n, ȳ)/ �
 �� ���� 
� ��� 
��
 f̃ � g̃x �	� g̃y ��� J��
 ����
��

)�����	� �� f � gx �	� gy �	� �� ���� ������)� ��	� �� 
���� �����
�	
 ������
���/ ���

�,������ ��� ��� i = 1, . . . , n� g̃i� g̃y ��� ��	
�	����� ��	�
�	�� �	������	� ��	�
��	��



#�

0

1

2

3

4

5

0
1

2
3

4
0

0.5

1

 

k

Normalized Radius of RoA
3D Model
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ĥ

������ @/B2 ������� ���* 
�� ������ �� �����	 �� �

���
��	 !��"% ��
���
� 	������(��
��
√

1 + (n− 1)/k2� n = 3, 4 !�/�/� 
�� ���
�	�� 
� 
�� ������
 �,�� ���	
� *���� ��

�� ��
��� ������ �� ��"% ��� A� �	� @� ���
��� *�
� gi(xi) = k� q = 1� gy(y) = y/

*�
� g̃i(0) = 0, g̃y(0) = 0/ ��� ���� �� 	�
�
��	� *� *��� ���� 
�� 
���� ��� 
�� �����	���

�� 
��� ����
��� �	� ��*��
� 
�� ���
�� ��

ẋ1 = f(y)− g1(x1)

ẋ2 = g1(x1) − g2(x2)
///

ẋn = gn−1(xn−1) − gn(xn)

ẏ = 2gn(xn) − f(y) − gy(y)

!@/B%

��� (x1, . . . , xn, y) 
 − (x̄1, . . . , x̄n, ȳ)� *���� f(y) = ry(1+γ)(y+1)q

1+γ(y+1)h − ry/

��� �	
���� )����� �� q �	� h� ���� 
���� ��������� �	� ���� �	 4��
��	 A/A ��� 
��

�� ����� ��� ���� 
� �	���(� ���
�� !@/B%/ �	 
�� ������
��	� *� ��� gi(xi) = kixi

!������ ����-��
��	 +�	�
���% ��
 �
 �� ���� 
� �	�������
� �	� ��
��	�� ��	�
��	� ����

�� 
�� �	�� ����)�� ���� 1��������-1�	
�	 +�	�
���/ "� �	 
�� �� ����� ����	� ������

����	����� 8����	�) ��	�
��	� )����� ����� �����
� �� 
�� �����	 �� �

���
��	 �� 
��

�����	 ��� � *��� ��	�� �� ������
�� )�����/ ������ �� �����	 �� �

���
��	 ��
���
�

�� ���	�� �� 
�� ������ �� 
�� ������
 	-� ���� ��	
���� �
 
�� �����	 
��
 �� ��	
��	��

�	 
�� ��
���
� �� 
�� �����	 �� �

���
��	 �� 
�� �����	/ ��� A� �	� @� ���
��� *�
�

gi(xi) = k� q = 1� gy(y) = y� ������ @/B ���*� 
�� ������ �� �����	 �� �

���
��	
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2d \ n � A @ B C $    B

� A @ B > #  �  �  >
@ >  �  B � A> BB C#  A>
>  � �� AB B>  �� ��� A>@ # >
#  B AB C�  �> AA� C B  A>B A#C>
 � � B>  �> �B� C$� ���� @A>#  BB�@
 � �# #@ � � @>�  C > B��B  �AC> B@�>@

����� @/ 2 ��� ��(� �� 
�� 4�
 ��� ����+�	� 
�� �,��
�	�� �� � 4?4 ���������
��	 ���
� ����	����� �� ������ 2d �	 n )��������/

��
���
� 	������(�� ��
√

1 + (n− 1)/k2 !�/�/� 
�� ���
�	�� 
� 
�� ������
 �,�� ���	
�

*���� �� 
�� ������ �� ��
��� �����	 �� �

���
��	%/ �
 ���*� 
��
 ��� 
�� ��J���
�

�� 
�� ������
�� )������ 
�� �����	 �� �

���
��	 ��
���
� ������ �� �
 ����
 ���� 
��

��
��� �����	 �� �

���
��	 ������/ 4������ 
� 
�� �� ���� 
�� ������
�� �����	� *����


�� ��
���
� �� 	�
 �� ���� �� ����� 
� 
�� �
�����
� ���	����/

9��	� ������ ������ ����	����� ��	�
��	� ������� �����
�
��	���� �,��	��)� ���

����� ���
���/ �	 ���
 
�� ��(� �� 
�� �������	�
� ���������	� !4�
% ������� ���*�

����	������� �	 
�� ��(� �� �
�
� ����� �� 
�� ������ �� 
�� ����	������ �� �,�� F�#G/

����� @/ ���*� 
�� ��(� �� 
�� ��(� �� 
�� ��
��, �	 
�� 4�
 ��� ����+�	� 
�� �,��
�	��

�� � ���� �� ������� !4?4% ���������
��	 ��� � ��)�	 ����	����� �� ������ 2d �	 n

)�������� !
�� ��������	��	� �,�������	 ��
(
n+d
d

)
%/ ��� ��* ����	���	� !����
 ��
�-

*���% �)�	 ������ ������ ����	����� 8����	�) ��	�
��	� �����
 �	 4?4 �������� 
��


��� �
��� ��	�������� ��
 
�� ��������	��	� 4?4 �������� ������ �������
�)��� �����

��� ��	��� ��
�*��� �)�	 ��� ����� ������ ����	����� 8����	�) ��	�
��	� FBG/ D�,


*� ������� � ���������
��	 �� ���� ����	���	�� �������� 
��
 
�+�� ��)�	
��� ��


�� �
���
��� �� 
�� ��
�*�� �	� ��	���� 
�� ��������	��	� 4?4 ������� 
� ������

�����
�
��	���� 
���
���� ��� ����� �����
� �� 
�� ������
�� �����/



#�

S1
w z

S2

������ @/>2 ��� ���
�� !@/B% �� �������	
�� �� �������+ �	
����		��
��	 �� � ������-

��� S1 �	� S2� ��)�	 �� !@/>% �	� !@/C%/

&�+ � ,
���	 #	������
�
��

��� ���
�� !@/B% �� �������	
�� �� �������+ �	
����		��
��	 �� � ������
��� S1 �	�

S2�

ẋ1 = z − g1(x1)

ẋ2 = g1(x1) − g2(x2)
///

///
///

ẋn = gn−1(xn−1) − gn(xn)

w = gn(xn)

!@/>%

�	�

ẏ = 2w − f(y) − gy(y)

z = f(y)
!@/C%

*���� f(y) = ry(1+γ)(y+1)q

1+γ(y+1)h − ry� �� ���*	 �	 ������ @/>/ 4��
�� S1 �� � 4�4? !��	���-

�	��
 ��	���-��
��
% ���
�� *�
� n �
�
��/ 7� �,���
 S1 
� �� � K������L *��� ����)��

���
�� ��	�� �
 �� �������� �� 
�� ����	 �� �������� ����
��	�� �/�/� �
 ��� � )���

������� �
���
��� �	� 
�� ��
�� !gi% ��� ��	�
�	�/ "� ���� �
 �� ���� 
� �	���(�

�)�	 ��� ����
�)��� ����� )����� �� n/ S2 �� � 4�4? ���
�� *�
� � ��	��� �
�
� 
��


���
���� 
�� ���
 �����
�	
 	�	��	����
�2 
�� ��	����� �� "�
 �	� �
� �	)��)���	


�	 ��
���
������ �	� �������+ ������
��	/ 9��	� 
��� ���������
��	 *� ��)� ������
��


�� ������,�
� �� ���� ����	���	�� �
�
�� !���
�� S1% ���� 
�� ������,�
� �� 
��

�����
�	
 	�	��	����
� �� ��
���
������ ��	
��� !���
�� S2%/

������	�� F@�G �������� � ��
��� ��� �����
�	� �	)����	
 �����
� �� 
�� �����	 ��



#A

�

���
��	 �� 
�� �����
�
������ �
���� ����������� ���	
� �� ���
��� *�
� �	�������

��	������ *���� 
�� �	������� ��	����� ��� �������� 
� ��
���� ���
��	 ���	 ����
��	�

�� �������
��	 �	������
���/ 7� ����� 
��� ���� 
� 
�� �������+ �	
����		��
��	 ��

������ @/> 
� �����
� �	)����	
 �����
� �� 
�� �����	 �� �

���
��	 ��� !@/B%/

��5������ $.�/ � 	����������� ��7�
�������� ���	���� U : R
m → R �� ��������

��)���� �� � �������
���� N �� ��� �
���� �� U(0) = 0 ��� ��
 ��� �����
� x ∈ N �

U(x) > 0 

8�
 LS� LS1� �	� LS2 ��	�
� 
�� 8�� ����)�
�)�� ��� 
�� ���
��� !@/B%� !@/>%� �	� !@/C%

������
�)���/ 7� ������ ��� ����
�)� ���	�
� ��	�
��	 U1 : R
n → R ���� 
��


LS1U1(x) ≤ z2 + 2δwz − κw2, ∀ (x, z) !@/#%

�	� U2 : R → R � U2(y) ����
�)� ���	�
� �	 ���� 	����������� N0 �� 
�� �����	 ����


��


LS2U2(y) ≤ κw2 − 2δwz − z2, ∀w �	� y ∈ N0. !@/$%

8�
 U(x, y) := U1(x) + U2(y) �	� β �� ���� 
��


ΩU,β =
{
(x, y) ∈ R

n+1 | U(x, y) ≤ β
} ⊂ R

n ×N0. !@/ �%

 ����
����� $.�/ ��� ΩU,β �� �� ����
���� ������ ����
 ��� *�� �� !@/B% 

��� ,� ��� �� ��� ���%�������� !@/#%� !@/$% �� ��
�	� �� � � �%������ �� �����)�� ���� ��

(0, 0)� ���� ΩU,β �� � ������ �� ��� 
����� �� ���
�	���� �� ��� �
���� �� !@/B% 

������ !�% U �� � 8����	�) ��	�
��	 ��� !@/B%� ��	�� ��� ��� 	�	(��� (x, y) ∈ ΩU,β ⊂
R
n ×N0� U(x, y) > 0 �	�

LSU(x, y) = LS1U1(x) + LS2U2(y) ≤ 0.

0�	��� ΩU,β �� �	)����	
 �	��� 
�� H�* �� !@/B%/

!�% 7� �,���	� 
�� 
*� ����� ������
���/ 4�	�� ���
 !�% ��
�������� 
��
 ΩU,β ��



#@

�	)����	
 �	��� 
�� H�* �� !@/B%� ��� 
�� ��
 ��	
��	�� ����* ��� ������� 
� ��

�����
� �� ΩU,β /

����  2 �� !@/#% �� �
���
� �/�/�

LS1U1(x) < z2 + 2δwz − κw2, ∀(x, z) �= (0, 0),


��	

Γ1 := {(x, y) | LSU(x, y) = 0} ⊂ Γ2 := {(x, y) | x = 0} .

4�	�� ∀(x, y) ∈ Γ2

ẋ1 = f(y) �= 0, ∀y �= 0,


�� �	�� �	)����	
 �����
 �� Γ1 *�
� ������
 
� 
�� H�* �� !@/B% �� 
�� �����	 �	�

8�4����I� 
������ ���*� 
��
 ��� 
��J��
����� �	 ΩU,β �� 
� 
�� �����	/ ��������� ΩU,β

�� �	 �	)����	
 �����
 �� 
�� �����	 �� �

���
��	 �� 
�� �����	 �� !@/B%/

���� �2 �� !@/$% �� �
���
� �/�/�

LS2U2(y) < −z2 − 2δwz + κw2, ��� ��� 	�	(��� (y, w) ∈ N0 × R,


��	

Γ1 := {(x, y) | LSU(x, y) = 0} ⊂ Γ3 := {(x, y) | y = 0} .

8�
 Γinv ⊂ Γ3 �� � �	)����	
 ��
 �	��� 
�� H�* �� !@/B%/ '�
 ∀(x, y) ∈ Γinv�

ẏ = 2gn(xn) �= 0, ∀xn �= 0,

�� xn = 0/ 4�������� ∀(x, y) ∈ Γinv�

ẋn = gn−1(xn−1) �= 0, ∀xn−1 �= 0,

�� xn−1 = 0/ �	���
�)��� *� ��
 
��
 ∀(x, y) ∈ Γinv� xi = 0 � ∀i �	� ��	�����	
�� 
��

�	�� �	)����	
 �����
 �� Γ3 *�
� ������
 
� 
�� H�* �� !@/B% �� 
�� �����	 �	� 8�4����I�


������ ���*� 
��
 ��� 
��J��
����� �	 ΩU,β �� 
� 
�� �����	/ ��������� ΩU,β �� � �����




#B

�� 
�� �����	 �� �

���
��	 �� 
�� �����	 �� !@/B%/ �

��-�� *�'�
� 
)  �������
� ��������
� .�� � �
��
 /��

,	���

"��� $
�����
�

������ 
��
 ĥ = γ
γ+1

h� σ = −∂f
∂y
|y=0 = ry(ĥ − q)� ky = ∂gy

∂y
|y=0 �	� *� ���	��

ĥr = q + 1
3
ky

ry
� ĥs = q − ky

ry
� θ(n) =

(
sec π

n+1

)n+1
�	� ĥd(n) = q + ky

ry

θ(n)
2+θ(n)

/ 9��	�

������� ����� �� 
�� �	������
��� !@/#% �	� !@/$%� *� ���* 
��
 ��� ������� ��	���

�� �������+ ���	 ĥ *� ��	 �	���
������ �	� � ����
�)� ���	�
� �����	�� U(x, y) �	�

β� ���� 
��
 ΩU,β ��
����� !@/ �%� �/�/� ΩU,β �� �	 �	)����	
 �����
 �� 
�� �����	 ��

�

���
��	/ 4����������

• �� ĥs < ĥ < ĥr

U(x, y) := 2
n∑
i=1

∫ xi

0

gi(ξ)dξ +
1

2

∫ y

0

(f(ξ) + gy(ξ))dξ !@/  %

• �� q < ĥ < ĥd(n)�

U(x, y) :=
n∑
i=1

di

∫ xi

0

gi(ξ)dξ − δ

∫ y

0

f(ξ)dξ

��� ���� ��	�
�	
� di > 0/

�	 !@/#% �	� !@/$%� ��
 δ = 0 �	� κ = 1� �/�/� *� ������ ��� ����
�)� ���	�
� ��	�
��	

U1 : R
n → R ���� 
��


LS1U1(x) ≤ z2 − w2, ∀ (x, z) !@/ �%

�	� U2 : R → R � U2(y) ����
�)� ���	�
� �	 ���� 	����������� N0 �� 
�� �����	 ����


��


LS2U2(y) < w2 − z2, ∀w �	� ∀y ∈ N0\{0}. !@/ A%



#>

��5������ $.�/ � -,-; ������ ���� ����� u ��� ������ y ��� ���� L2����� �� ����

κ �� ��
 ��� u�

‖y‖2 ≤ κ ‖u‖2 .

��� �	������
��� �	 !@/ �% �	� !@/ A% �	����� 
��
 
�� ���
�� S1 ��� L2-���	 �
 ���
 1

�	� ���
�� S2 ��� L2-���	 ���� 
��	 1 �	 
�� ������
�)� �����	�� �	� �� ��
������ 
��	


�� �������+ �	
����		��
��	 ���
� 
�� ��	��
��	� �� 
�� ����� �����-���	 
������

F@�G/ D�,
 *� ���* 
��
 �� ĥs < ĥ < ĥr 
��	 !@/  % �� � 8����	�) ��	�
��	 ��� !@/B%

�	� ���* ��* 
� ��	�
���
 � ��������	��	� �	)����	
 �����
 ΩU,β �� 
�� �����	 ��

�

���
��	/

����� $.�/ -����� !@/>% ��� L2����� �� ��
� ���� 1� � � � �!���� �������� ��)����

U1 : R
n → R ���� �����)�� ���%������ !@/ �% ∀ (x, z) 

������ 8�


U1(x) :=
n∑
i=1

2

∫ xi

0

gi(ξ)dξ, !@/ @%


��	 U1(0) = 0� U1(x) > 0, ∀x �= 0 ��	�� ∀i, gi(xi) �� ��	�
�	� �	� gi(0) = 0� �	� ���

��� (x, z)

LS1U1(x) =
∑n

i=1 2gi(xi)ẋi

= 2g1(x1) (z − g1(x1)) +
∑n

i=2 2gi(xi) (gi−1(xi−1) − gi(xi))

= 2zg1(x1) − g2
1(x1) − g2

n(xn)

+
∑n

i=2

(−g2
i−1(xi−1) + 2gi(xi)gi−1(xi−1) − g2

i (xi)
)

= − (z − g1(x1))
2 −∑n

i=2 (gi−1(xi−1) − gi(xi))
2 + z2 − w2

≤ z2 − w2. �

����� $.�/ ,� ĥs < ĥ < ĥr� ���� ���
� �!���� � �������� �������
���� N0 �� ���

�
���� ��� � ���	���� U2 : R → R �������� ��)���� �� N0 ���� �����)�� ��� ���%������

�� !@/ A% ∀w ��� ∀y ∈ N0\{0} 



#C

������ 8�


Dy :=

{
y > 0 | − 1

3
gy(y) < f(y) < gy(y)

}
∪
{
y < 0 | gy(y) < f(y) < −1

3
gy(y)

}
.

D�
� 
��
 Dy �� 
�� ��
 �� ���	
� y ��� *���� 
�� ����� �� f ���� ��
*��	 
�� ����� ��

gy �	� −1
3
gy !������ @/C"%/ 4�	�� ∂f

∂y
|y=0 = ry(q − ĥ) �	� ∂gy

∂y
|y=0 = ky > 0�

ĥ < ĥr = q + 1
3

ky

ry
⇒ −∂f

∂y
|y=0 <

1
3

∂gy

∂y
|y=0

ĥ > hs = q − ky

ry
⇒ ∂f

∂y
|y=0 <

∂gy

∂y
|y=0.

4�� 
���� �� � 	�	���
� 	����������� �� 
�� �����	

N0 ⊂ Dy ∪ {0}. !@/ B%

���
��������

U2(y) :=
1

2

∫ y

0

(f(ξ) + gy(ξ)) dξ !@/ >%

�� ����
�)� ���	�
� �	 N0 �	�

LS2U2(y) − w2 + z2 = ∂U2

∂y
ẏ − w2 + f 2(y)

= ∂U2

∂y
(2w − f(y) − gy(y)) − w2 + f 2(y)

= −
(
∂U2

∂y
− w

)2

+
(
∂U2

∂y

)2

− ∂U2

∂y
(f(y) + gy(y)) + f 2(y)

= −
(
∂U2

∂y
− w

)2

− 1
4
(f(y) + gy(y))

2 + f 2(y).

'�
� −1
4
(f(y) + gy(y))

2 + f 2(y) < 0 � ∀y ∈ Dy� �	� ��	�����	
��

LS2U2(y) < w2 − z2, ∀w, ∀y ∈ N0\{0} ⊂ Dy . �

(����� $.�/ ,� ĥ > ĥr ���� ��� ���%������ �� !@/ A% 	����� �� �����)�� �� ���

�������� ��)���� ���	���� �� ��� �������� �������
���� �� ��� �
����� ���	� ��� ����

��
������� �� ������ !@/C% ��� L2����� �
����
 ���� 1 
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ΩU,β

������ @/C2 !"% N0 �� 
�� ��
 �� ���	
� y *���� 
�� ����� �� f ���� ��
*��	 gy �	�
−1

3
gy/ �	 
��� ���� N0 = {y | y > −1}/ !'% ��� y − xi ����� �� 
�� �	)����	
 �����
 ��

�����	 �� �

���
��	 ΩU,β !xj = 0, j �= i%/

D�
��� 
��
 ��� U1 �	� U2 �� ���	�� �	 !@/ @% �	� !@/ >%� �� U(x, y) �� ��)�	 �� !@/  %


��	 U(x, y) = U1(x) + U2(y)/ 8�
 N0 �� ���	�� �� ���)� �� !@/ B%/

 ����
����� $.$/ ,� ĥs < ĥ < ĥr� ��
 ��� β ��	� ���� ΩU,β ⊂ R
n × N0� ΩU,β �� ��

����
���� ������ �� ��� 
����� �� ���
�	���� �� ��� �
���� ��
 ������ !@/B% 

������ " �����
 ��	�����	�� �� 
������
��	 @/A� 8���� @/� �	� 8���� @/A/

01����� $.�/ "�� gi(xi) = kixi, gy(y) = y, γ = 3
2
, q = 1, ��� h = 2 ���� ĥ = 6

5
�

ĥr = 4
3

���

U =

n∑
i=1

kix
2
i +

5

12
log
(
5 + 6y + 3y2

)
+

1

4
y2 − 1

2
y − 5

12
log 5,

N0 = {y | y > −1} �����
� < 8�� ��� ��!���� �������� ��� β �� U ���� �����)��

!@/ �% �� β = 0.3682 ����
� < 81 ����� � y−xi ���	� �� ��� ����
���� ������ �� 
�����

�� ���
�	���� ΩU,β 

��-�� $
��
����
��
 ��������
� 
) ��� *�'�
� 
)  �������
�

0���' 	�����
 ���������
� +�����
�����

�	 
�� ���)���� ���
��	�� *� ��
���
�� �����	� �� �

���
��	 �� �����
�
������ �
�-

��� ����������� ���	
� 
������ �	 �������
��	 �� � ����� �����-���	 
��� ��	��
��	/



#$

D������ 
�� �)����� ���
�� *�� ���������� �	
� 
*� �	��
-��
��
 ���
��� �	� �

���
����
� ��� 
�� ��
���
�� �� 
�� �����	 �� �

���
��	 �� 
�� �)����� ���
�� *��

��������� ���	� ���
����
�� ��� 
�� �	��
-��
��
 ���	 ������
��� �� 
�� ������
���

!����
��	� !@/ �% �	� !@/ A%%/ �	 
��� ������
��	� *� ��	����� �,
�	���	� �� 
��� ����

*���� �	��
-��
��
 ���	 ������
��� ��� �������� �� ���� ������
���
�� ��-������ ���-

����
��	 �	������
��� F@>G/ ?	� ��)�����	 ���� 
�� ��������� �������
��	 �	������
���

��
���
��� �� 
��
 
�� �	������
��� ��)���� ���� *��� �� ����� �	������
���� �/�/� 
��� ���

�������� 
� ���� �	 ���
��	 ���	��� �����
� !��� �,����� �	 ���
��	 �����)�� ��
� ��

�������
�� �
����� ��	�
��	�% �� 
�� �
�
�-����� ��
 	�
 	���������� 
�� *���� �
�
�

����� F@�G/

�	 !@/#% �	� !@/$% ��
 κ = 0� �/�/� *� ������ ��� � ����
�)� ���	�
� ��	�
��	 U1 :

R
n → R ���� 
��


LS1U1(x) ≤ z2 + 2δwz, ∀ (x, z) !@/ C%

�	� U2 : R → R � U2(y) ����
�)� ���	�
� �	 ���� 	����������� N0 �� 
�� �����	 ����


��


LS2U2(y) < −z2 − 2δwz, ∀w �	� ∀y ∈ N0\{0}. !@/ #%

D�,
 *� �	� U1 �	� U2 ��
�����	� 
�� �	������
��� ���)� ��� q < ĥ < ĥd(n) �	� �

������� δ/ 7� ���
 ���* 
��
 � �����	�� ��	�
��	 U1 �,��
� ��� 
�� ��	����(�
��	 ��

!@/>% �	� 0 < δ ≤ 1
2
θ(n)� �	� 
��	 ���* 
��
 �
 �,��
� ��� ��	���� ���
�� S1/ 7� 
���



�� ������� ���� �� 
�� ��	����(�
��	 ������
��� ��	�� 
�� ����� ��
��	�� � ��������� ��

�	��	� U1 �� ���)�	� � 8����	�) �	������
� ��� 
�� ���� *��	 gi(xi) = kixi !����-

��
��	 +�	�
���%/ ��� ��	����(�
��	 �� ���
�� !@/>% �� ��)�	 ��

ẋ = Ax+Bz

w = Cx
!@/ $%



$�

*����

A =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

−k1 0 · · · 0 0

k1 −k2 0 0
/// · · · ///

0 0 −kn−1 0

0 0 · · · kn−1 −kn

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

!@/��%

B =
[

1 0 · · · 0 0
]T

!@/� %

C =
[

0 0 · · · 0 kn

]
!@/��%

��5������ $.�/ � ���
�! A �� ���������� ������ �� ���
� �!���� � �������� ���
�!

P � 0 ��	� ����

ATP + PA ≺ 0.

����� $.$/ ,� 0 < δ ≤ 1
2
θ(n)� ���� ���
� �!���� �������� ��)���� U1 : R

n → R

���� �����)�� ��� ���%������ �� !@/ C% ∀ (x, z) ��
 S1 ����� ��� �����
 ������ ��)��� ��

!@/ $% 

������ ����
 ��
 0 < δ < 1
2
θ(n) �	�

Ã =

⎡
⎣ A B

−2δC −1

⎤
⎦ G =

⎡
⎣ A −B

2δC −1

⎤
⎦ .

���	

Ã =

⎡
⎣ In 0

0 −1

⎤
⎦G

⎡
⎣ In 0

0 −1

⎤
⎦ ,

�	� �� Ã �� �����	���� �
���� �� �	� �	�� �� G �� �����	���� �
����/ ��� δ > 0� ������	��



$ 

F�G ���*� 
��
 � 	�������� �	� ��=���	
 ��	��
��	 ��� �����	�� �
�����
� ��

G =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

−k1 0 · · · 0 −1

k1 −k2 0 0
/// · · · ///

0 0 −kn 0

0 0 · · · 2δkn −1

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

��

δ <
1

2
θ(n).

��������� 
���� �,��
� � �����	�� ��
��, P̃ � 0 ���� 
��


ÃT P̃ + P̃ Ã ≺ 0. !@/�A%

7�
���
 ���� �� ��	�����
�� ��


P̃ =

⎡
⎣ P 0

0 1
2

⎤
⎦ ,

*���� P �� �����	�� �	� P � 0/ ���	�

0 � ÃT P̃ + P̃ Ã =

⎡
⎣ AT −2δCT

BT −1

⎤
⎦
⎡
⎣ P 0

0 1
2

⎤
⎦+

⎡
⎣ P 0

0 1
2

⎤
⎦
⎡
⎣ A B

−2δC −1

⎤
⎦

=

⎡
⎣ ATP + PA PB − δCT

BTP − δC −1

⎤
⎦

�	� ∀ (x, z) ∈ R
n × R\{0} �	� 0 < δ < 1

2
θ(n)

⎡
⎣ x

z

⎤
⎦
T ⎡
⎣ ATP + PA PB − δCT

BTP − δC −1

⎤
⎦
⎡
⎣ x

z

⎤
⎦ < 0

�(
xTAT + zTBT

)
Px+ xTP (Ax+Bz) − 2δ (Cx) z − z2 < 0.



$�

'� ��	
�	��
� �	 δ� *� ��
 
��
 ��� 0 < δ ≤ 1
2
θ(n)

(
xTAT + zTBT

)
Px+ xTP (Ax+Bz) − 2δ (Cx) z − z2 ≤ 0, �

�	� 
�������� U1(x) = xTPx ��� ���
�� !@/ $% ��
����� !@/ C%/

(����� $.�/ 3� 	�� ������ )�� U1 �� 	����
�	���� Ã �� ����� ����� ��� �������

!@/�A% ��
 � �������� P̃  ,��%������ !@/�A% �� � "������� ���%������ ��� 	�� �� �=�

	������ ������ �� � �����
 ���
�! ���%������ �"�,� ����� ���� �� ��� ��������� �����
�

>./� /8? 

����� $.'/ ,� 0 < δ ≤ 1
2
θ(n)� ���� ���
� �!���� � �������� ��)���� ���	���� U1 :

R
n → R ���� �����)�� ��� ���%������ �� !@/ C% ∀ (x, z) ��
 S1 ����� ��� ������ �� !@/>% 

������ ��	����� 
�� ���
�� C1 ���	�� ��

ẋ1 = −z̃ − g1(x1)

ẋ2 = g1(x1) − g2(x2)
///

///
///

ẋn = gn−1(xn−1) − gn(xn)

˙̃z = 2δgn(xn) − z̃

!@/�@%

�	� ��
 LC1 ��	�
� 
�� ��������	��	� 8�� ����)�
�)�/ ��� 0 < δ < 1
2
θ(n)� ��	��

lim
|xi|→∞

∫ xi

0

gi(ξ)dξ = ∞,

������	�� F�G !��������� A �	� �
� �����% ���*� 
��
 ��� ���
�� !@/�@% 
���� �,��


��	�
�	
� di > 0� 1 ≤ i ≤ n+ 1 ���� 
��


Ũ1 (x, z̃) =
∑n

i=1 di
∫ xi

0
gi(ξ)dξ + dn+1

1
2
z̃2

= U1(x) + dn+1
1
2
z̃2

!@/�B%



$A

�� � ������ 8����	�) ��	�
��	� �/�/� ∀ (x, z̃) �= 0

d

dt
Ũ1 (x, z̃) < 0.

7�
���
 ���� �� ��	�����
�� 
�+� dn+1 = 1 �	� ��
 z = −z̃� 
��	 ∀ (x, z) �= 0 �	�

0 < δ < 1
2
θ(n)

0 > LC1Ũ1 (x,−z) = LS1U1(x) − z (2δgn(xn) + z)

= LS1U1(x) − 2δwz − z2

'� ��	
�	��
� �	 δ� *� ��
 
��
 ��� 0 < δ ≤ 1
2
θ(n)

LS1U1(x) ≤ 2δwz + z2. �

����� $.#/ ,�� ��
 ������ �� !@/C%� q < ĥ < ĥd(n)� ���� ���
� �!���� � ��������

�������
���� �� ��� �
���� N0 ��� � ���	���� U2 : R → R �������� ��)���� �� N0 ����

�����)�� ���%������ !@/ #% ��
 δ = 1
2
θ(n) �∀w ��� ∀y ∈ N0\{0} 

������ 8�


Dy =

{
y > 0 | − δ

1 + δ
gy(y) < f(y) < 0

}
∪
{
y < 0 | 0 < f(y) < − δ

1 + δ
gy(y)

}
.

D�
� 
��
 Dy �� 
�� ��
 �� ���	
� y ��� *���� 
�� ����� �� f ���� ��
*��	 
�� ����� ��

− δ
1+δ

gy �	� 
�� ����(�	
�� �,�� !������ @/#%/ 4�	�� ∂f
∂y
|y=0 = ry(q − ĥ) �	� ∂gy

∂y
|y=0 =

ky > 0�

ĥ < ĥd(n) = q + ky

ry

θ(n)
2+θ(n)

⇒ −∂f
∂y
|y=0 <

δ
1+δ

∂gy

∂y
|y=0

ĥ > q ⇒ ∂f
∂y
|y=0 < 0.

4� 
���� �� � 	�	���
� 	����������� �� 
�� �����	 N0 ⊂ Dy ∪ {0}/ ���
�������� ���

y ∈ N0 
�� ��	�
��	

U2(y) := −δ
∫ y

0

f(ξ)dξ !@/�>%
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������ @/#2 ��� ��
 N0 �� 
�� ��
 �� ���	
� ��� *���� 
�� ����� �� f ���� �	 
��
���� ��
*��	 
�� ����� �� − δ

1+δ
gy �	� 
�� ����(�	
�� �,��/ ���� ���� ����	+� �� 
��

��
�*�� ��(� �	�������/

�� ����
�)� ���	�
� �	�

LS2U2(y) + 2δwz + z2 = ∂U2

∂y
ẏ + 2δwf(y) + f 2(y)

= −δf(y) (2w − f(y) − gy(y)) + 2δwf(y) + f 2(y)

= (δ + 1) f 2(y) + δg(y)f(y)

'�
� (δ + 1) f 2(y) + δg(y)f(y) < 0 � ∀y ∈ Dy� �	� 
��������

LS2U2(y) < −z2 − 2δwz, ∀w, ∀y ∈ N0\{0} . �

8�
 U(x, y) := U1(x) + U2(y)� ��� U1 �	� U2 �� ���	�� �	 !@/�B% �	� !@/�>% ���

δ = 1
2
θ(n) �	� ��
 N0 �� �� ��	�
���
�� �	 
�� ����� 8���� @/>/

 ����
����� $.'/ ,� 0 < ĥ < ĥd(n)� ��
 ��� β ��	� ���� ΩU,β ⊂ R
n×N0� ΩU,β �� ��

����
���� ������ �� ��� 
����� �� ���
�	���� �� ��� �
���� ��
 ������ !@/B% 

������ " �����
 ��	�����	�� �� 
������
��	 @/A� 8���� @/B� �	� 8���� @/>/

(����� $.$/ (
��������� < . ��� ��� ��	��� 	�������� ��������� ������ ĥr ��� ĥd(n)

�� ĥ ���� ���
����� ��������� �� ��� ������� ��
 �
���
�
� 
���� ���� �����
 �� ���

	��� �� ĥr� �� ����
������� 
��	����� (
���������� < < ��� < 0 ����� ���� ��� �������

���� ����� ���� ���� ����� ������ �
� ������ �� ������� 
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������
��	� @/@ �	� @/B ��
������ ��* 
� ��	�
���
 �	)����	
 �����
� �� �����	 ��

�

���
��	 ��� � ������ �� ���
���� ��
 �� 	�
 �;�� �	� �����	
��� �	 ��* ����� 
���

�����
� ���/ �	 ��	���� 
�� ��(� �� 
���� �����
� *��� ����	� �	 
�� ������ ������
���

�� f �	� gy �� �����
��
�� �	 4��
��	 A/@/ /

(����� $.'/ ���
� �
� ��� ����	 ���� �� ���
����� ��� 
����� �� ���
�	���� �����

����� ΩU,β ��
 !@/B% -�����
 �� .2 	��� �6!����� / <�� ����� � )!�� U �� 	�� �����

��� ��������� �
����� ��
 β@

maxβ

LSU(x, y) < 0, ∀(x, y) ∈ ΩU,β\{0, 0}.

������
 ���
��	� �� �� 	������ ����
���� ������� �� ��� 
����� �� ���
�	����� ���	� ��

ΩU,β1 ��� ΩW,β2 �
� ����
���� ������� �� 
����� �� ���
�	���� �� ��� )!�� ������ ���� ��

�� ΩU,β1

⋃
ΩW,β2 ��
 �!������ �� q ≤ ĥ ≤ hr� ���� �� 	�� ��� ΩU,β ��� ��� "�������

���	����� ���� �� ��� �
�� (
��������� < < ��� < 0 �� ���
��� ��
 �������� 

$.#.�.� -���� ���
���� �������� 2�������


��� ���������
��	 �� !@/B% �	
� S1 �	� S2 ���)���� � ��	)�	��	
 *�� �� �������	� ���

����+ �����	�� 8����	�) ��	�
��	�� �/� *� ������ ��� U(x, y) = U1(x)+U2(y)� x ∈ R
n�

y ∈ R/ ��� 	�,
 �������
��	 �,���	�� 
�� ��	����(�
��	� �� S1 �	� S2 �	� ���*� 
��


�������� �� 
���� �� ���� � 8����	�) ��	�
��	 ��� 
�� ��	����(�
��	 �� ���
�� !@/B%� 
��	

*� ��	 ��	�
���
 �
 �� �	��	� U1 �	� U2 ��
�����	� !@/�B% �	�!@/�>% ������
�)���/ ���

��	����(�
��	 �� ���
�� !@/>% �� ��)�	 �� !@/ $%� �	� ��
 
�� ��	����(�
��	 �� S2 ��

ẏ = a2y + 2w

z = −σy
!@/�C%

*���� σ = −∂f
∂y
|y=0 = ry(ĥ− q) � a2 = −ky + σ/ ��� ��	����(�
��	 �� !@/B% �� ��)�	 ��

!@/�% �	� *� ��*��
� �
 �� ⎡
⎣ ẋ

ẏ

⎤
⎦ = J

⎡
⎣ x

y

⎤
⎦ !@/�#%



$>

*����

J =

⎡
⎣ A −σB

2C a2

⎤
⎦ .

 ����
����� $.#/ ,� ���
� �!��� �������� ��)���� ���
�	�� P1 ∈ R
n×n ��� p2 ∈ R

1×1

��	� ���� JTP + PJ ≺ 0� ���
�

P :=

⎡
⎣ P1 0

0 p2

⎤
⎦ ,

���� ���
� �!��� �������� ��)���� %���
���	 ���	����� U1 : R
n → R� U2 : R → R� ���

δ = σ
ky−σ ��	� ����

LS1U1(x) < z2 + 2δwz, ∀x, z
LS2U2(y) ≤ −z2 − 2δwz, ∀y, w

��
 ������� S1 ��� S2 ����� �� !@/ $% ��� !@/�C% 
����	������ 

������ ���	�

Ũ1(x) := xTP1x Ũ2(y) := p2y
2

α := −2a2p2
σ2 δ̃ := 2p2

σ

�	�

Q := JTP + PJ

=

⎡
⎣ ATP1 + P1A 2p2C

T − σP1B

2p2C − σBTP1 2a2p2

⎤
⎦ ≺ 0.

!@/�$%

D�
��� 
��
 !@/�$% ������� 
��
 a2 < 0� �	� 
�������� α > 0/ ���	 ∀y, w

LS2Ũ2(y) = 2p2a2y
2 + 4p2yw

= −ασ2y2 + 2δ̃σyw

= −αz2 − 2δ̃zw

!@/A�%



$C

�	�

LS1Ũ1(x) − αz2 − 2δ̃wz = xTP1 (Ax+Bz) +
(
xTAT + zBT

)
P1x

+2a2p2
σ2 z2 − 22p2

σ
zCx

=

⎡
⎣ x

z

⎤
⎦
T

Q1

⎡
⎣ x

z

⎤
⎦

*����

Q1 =

⎡
⎣ ATP1 + P1A − 1

σ

(
2p2C

T − σP1B
)

− 1
σ

(
2p2C − σBTP1

)
1
σ2 2a2p2

⎤
⎦ .

���	 Q1 ≺ 0 ��	�� Q ≺ 0 !
�� ���	����� ��	��� �� ��
� ��
����� ��)� 
�� ���� ���	%

�	� ��

LS1Ũ1(x) < αz2 + 2δ̃wz, ∀x, z. !@/A %

4�	�� α > 0, �	������
��� !@/A�% �	� !@/A % ����� 
��
 U1(x) := 1
α
Ũ1(x) �	� U2(y) :=

1
α
Ũ2(y) ��
����

LS1U1(x) < z2 + 2δwz, ∀x, z
LS2U2(y) ≤ −z2 − 2δwz, ∀y, w

*�
� δ = 1
α
δ̃ = σ

ky−σ / �

��-�� ��������
�� 
) ��� ���
��
����
�

����� $.&/ ,� ki = k� ∀i ��
 !@/ $% ��� ���
� �!���� � �������� ��)���� U1(x) =

xTP1x ���������� !@/ C% ���� δ > 0� ���� δ < 1
2
θ(n) ��� ���
� �!���� � �������� ���
�!

P̃1 � 0 ��	� ���� Ũ1(x) = xT P̃1x �����)�� !@/ C% 

������ 8�
 LL1 �� 
�� 8�� ����)�
�)� ��� ���
�� !@/ $% �	� W (x) = kU1(x)� 
��	

��� ��� x, z

LL1W (x) < kz2 + 2δkwz



$#

�	�

0 �
⎡
⎣ ATkP1 + kP1A kP1B − δkCT

BTkP1 − δkC −k

⎤
⎦

=

⎡
⎣ AT −2δkCT

BT −k

⎤
⎦
⎡
⎣ kP1 0

0 1
2

⎤
⎦+

⎡
⎣ kP1 0

0 1
2

⎤
⎦
⎡
⎣ A B

−2δkC −k

⎤
⎦

= MTP + PM,

*����

M =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

−k 0 · · · 0 0 1

k −k 0 0 0
/ / / / / /

///

0 0 −k 0 0

0 0 k −k 0

0 0 · · · 0 −2δk2 −k

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

=

⎡
⎣ In 0

0 −1

⎤
⎦

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

−k 0 · · · 0 0 −1

k −k 0 0 0
/ / / / / /

///

0 0 −k 0 0

0 0 k −k 0

0 0 · · · 0 2δk2 −k

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

⎡
⎣ In 0

0 −1

⎤
⎦ .

'�
 ��� δ > 0� M �� �
���� �� �	� �	�� �� δ < 1
2
θ(n) F@AG/ ���
�������� �� M �� �
����

�
 �� �����	���� �
���� F�G/ 4� 
���� �,��
� � �����	�� P̃1 � 0 ���� 
��


LL1

(
xT P̃1x

)
< kz2 + 2δkwz

�

D�,
 *� ���* 
��
 �� ∂
∂xi
gi(xi)|0 = k� ∀i� 
��	 ��� ĥ > ĥd(n) 
���� �� 	� ������
��

����+ �����	�� 8����	�) ��	�
��	 U(x, y) = U1(x) + U2(y) ��� ���
�� !@/�#% !
��

��	����(�
��	 �� ���
�� !@/B%%/



$$

x1 x2 xn

y
S1

S2

������ @/$2 �����
��
��	 �� 
�� ��	���� ���������
��	 ��� n2 = 3/

 ����
����� $.&/ ,� ∂
∂xi
gi(xi)|0 = k� ∀i� �� !@/B%� ���� ��
 ĥ > ĥd(n) ���
� �� ��

%���
���	 ���	
 �������� "������� ���	���� U(x, y) = U1(x)+U2(y) ��
 ������ !@/�#% 

������ "����� 
��
 ��� ĥ > ĥd(n) > q� �	� ������
�� U(x, y) = U1(x) + U2(y)

�,��
� ��� ���
�� !@/�#%/ '� 
������
��	 @/>� 
���� �,��
� Ũ1 = xTP1x �	� δ = σ
ky−σ

��
�����	� !@/ C%/ ?	 
�� �
��� ��	� 8���� @/C ������� δ < 1
2
θ(n) �	�

δ = σ
ky−σ =

ry(ĥ−q)
ky−ry(ĥ−q) < 1

2
θ(n) =

ry(ĥd−q)
ky−ry(ĥd−q)

⇓
ĥ < ĥd(n).

��	�����	
��� 
�� ��	
�����
��	 ������� 
��
 	� ������
�� ����+ �����	�� 8����	�)

��	�
��	 ��� ���
�� !@/�#% �,��
�/ �

&�6 �	�	�
� #	������
�
��

7� �������	
 ���
�� !@/B% �� �������+ �	
����		��
��	 �� � ���
��� S1 �	� S2 ��

���*	 �	 ������ @/>� *�
� S1 �	 R
n1 �	� S2 �	 R

n2 � n1 + n2 = n + 1 !�����
��
�� �	

������ @/$ ��� n2 = 3%/ 4��
�� S1 �� ��)�	 ��

ζ = F1(ζ) +B1z

w = G1(ζ)
!@/A�%



 ��

��� ζ ∈ R
n1� *����

F1(ζ) =

⎡
⎢⎢⎢⎢⎢⎢⎣

−gm+1(ζ1)

gm+1(ζ1) − gm+2(ζ2)
///

gm+n1−1(ζn1−1) − gm+n1(ζn1)

⎤
⎥⎥⎥⎥⎥⎥⎦

G1(ζ) = gm+n1(ζn1)

B1 =
[

1 0 · · · 0
]T

�	� m = n2 − 1/ 4��
�� S2 �� ��)�	 ��

ψ = F2(ψ) +B2w

z = G2(ψ)
!@/AA%

��� ψ ∈ R
n2� *����

F2(ψ) =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

−f(ψ1) − gy(ψ1)

f(ψ1) − g1(ψ2)

g1(ψ2) − g2(ψ3)
///

gn2−2(ψn2−1) − gn2−1(ψn2)

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

G2(ψ) = gn2−1(ψn2)

B2 =
[

2 0 · · · 0
]T
.

7� *��� ���� �	� ���� �������+ �	
����		��
��	 �� ���
��� �	 R
n1 �	� R

n2 � (n1, n2)-

���������
��	 �� !@/B%/ 8�
 LS� LS1� �	� LS2 �� 
�� 8�� ����)�
�)�� ��� 
�� ���
���

!@/B%� !@/A�%� �	� !@/AA% ������
�)���/ 4������ 
� 
�� ���)���� ���������
��	� *�

������ ��� � 	����������� N2 ⊂ R
n2 �� 
�� �����	� �	� ����
�)� ���	�
� ��	�
��	

U1 : R
n1 → R �	 R

n1 �	� ����
�)� ���	�
� ��	�
��	U2 : R
n2 → R �	 N2 ���� 
��


LS1U1(ζ) ≤ ρ(w, z), ∀ (ζ, z) ∈ R
n1 × R !@/A@%

LS2U2(ψ) ≤ −ρ(w, z), ∀ (ψ,w) ∈ N2 × R. !@/AB%



 � 

*���� ρ : R
2 → R �� � ������ ��
� ������
��(�� �� δ �	� κ

ρ(w, z) := z2 + 2δwz − κw2.

���	�

U(ζ, ψ) := U1(ζ) + U2(ψ), !@/A>%

�	� β �� ���� 
��


ΩU,β ⊂ R
n1 ×N0.

" �������
��	 �	������ 
� 
������
��	 @/A �����/

 ����
����� $.6/ ΩU,β �� ����
���� ����
 ��� *�� �� !@/B%� ��� �� ��� �� ��� ���%����

����� !@/#%� !@/$% �� ��
�	� ���� ΩU,β �� � ������ �� ��� 
����� �� ���
�	���� �� ��� �
����

�� !@/B% 

������ 4������ 
� ����� �� 
������
��	 @/A/ �

"� ������ �� F2 �� ��
��	�� *� ��	 ������ ��� U1, U2 ���	� ��	�����(�
��	� �� 
�� 4-

��������� �	� 4?4 ����,�
��	�� �� �	 4��
��	 A/A/ 8�
 F2(ψ) = n2(ψ)
d2(ψ)

� *���� d2(ψ) > 0

��� ψ ≥ 0� �	� ���	� N2 �� ���	� 
�� �����)�� ��
� �� � ����
�)� ���	�
� ����-

	����� ��	�
��	 ϕ2 *�
� ϕ2(0) = 0 �	� ������
 ��)�� ��
�� �/�/� N2 = Ωϕ2,R2 =

{x ∈ R
n2 | ϕ2(x) < R2}/ ��� ��������	��	� 4?4 �������� ��� �	��	� U1 �	� U2 ���

U1(ζ) − εζT ζ �� 4?4

− ∂
∂ζ
U1(ζ) · (F1(ζ) +B1z) + ρ(z,G1(ζ)) − εζT ζ �� 4?4

!@/AC%

�	�

U2(ψ) − εψTψ + s1(ψ) (ϕ2(ψ) −R2) �� 4?4

d2(ψ)
{
− ∂
∂ψ
U2(ψ) · (F2(ψ) +B2w) − ρ(G2(ψ), w)

}
+d2(ψ)s2(ψ,w) (ϕ2(ψ) −R2) − εψTψ �� 4?4�

!@/A#%

*���� s1, s2 ��� 4?4 ����	������/ ��� �����
 Ωϕ2,R2 ��	 �� ���
��� �����)�� ��


�+�	� ϕ2 = U2 �	� ���	� ������	�
�-*��� �=	� �
���
��	� F@ G/ ����� 
*� ��������
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Stability Diagram for 3D System
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(1,2)
Decompostion

������ @/ �2 4
�����
� ������� ��� 
�� A� ���
�� *�
� gi(xi) = kxi� i = 1, 2� q =
1, ∂

∂y
gy(y)|0 = 1/ ��� (2, 1)-���������
��	 ��	 �	�� �� ���� 
� ��	�
���
 8����	�)

��	�
��	� ��� 
�� ������
�� ��
� ������� �����	�� 8����	�) �	� 4���� &��	/ �	
����
��	 
� 
��� ��
�� 
�� (1, 2)-���������
��	 �	�� �� ���� 
� ��	�
���
 8����	�)
��	�
��	� ��� 
�� ��
 �	 ���� ����/

��� ������� 
������ 
�� �������	 )�������� !δ� κ% �	 
�� ������ ��
� ρ/ 8�
 �� ��	�
�

�� 2α1 
�� ������
 ������ �� 
�� ����	������ �	 4?4 ������� !@/AC% �	� �� 2α2 
��

������
 ������ �� 
�� ����	������ �	 4?4 ������� !@/A#%/ 7� ������ α1 
� �� �����

��	�� *� �,���
 ���
�� S1 
� �� ������ !�/�/ ��* ������ )��
�� ����� �)�	 ��	��� ��

����-��
��	 +�	�
��� ��� ����%� �	� α2 
� �� ���� ������ ��	�� 
�� ������ !h% �� d2(ψ)

����� �� ����/

7� 	�* ����� �	 
�� ������� ���� *����

∂

∂xi
gi(xi)|0 = k, ��� ��� i = 1, . . . , n.

7� ��)� ���*	 �	 
�� ���)���� ���
��	 
��
 ��� ĥs < ĥ < ĥd(n)� *� ��	 �	� ����+

�����	�� 8����	�) ��	�
��	� 
��
 ��)� �	 ��
���
� �� �����	 �� �

���
��	 ��� 
��

���
��/ ��� 
��� ������� ���� 
������
��	 @/C ��
�������� 
��
 ��� ĥ > ĥd(n) 
���� �� 	�

!������
��% ����+ �����	�� 8����	�) ��	�
��	 �� 
�� ���� U(x, y) = U1(x) + U2(y)�

x ∈ R
n� y ∈ R �,��
� ��� 
�� ��	����(�
��	 �� !@/B%� �/�/� 
�� (n, 1)-���������
��	

��		�
 ������� �)�	 � ����� ������
�� 8����	�) ��	�
��	 ��� !@/B%/ �� �	� 8����	�)

��	�
��	� ��� ���
��� *�
� ĥ > ĥd(n) *� �	������ 
�� ����	���	 �� 
�� ���
�� S2/

0�*�)�� 
��� ������� �����
�
��	���� �,��	��)� ��	�� α2 �� ���� �/�/� *� ��� ��)�	�
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Stability Diagram for 7D System
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������ @/  2 ��� ��	��� ��
�*��� ��;���	
 (n1, n2)-���������
��	� ��� ���� 
� ���-
���� 8����	�) ��	�
��	� 
��
 )����� �����
� �� �����	 �� �

���
��	 �� 
�� �����	/ ���
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ẋ2 = w − kx2
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���/

�	 ����� 
� ������� 
���� ����
��	�� *� �	)��
���
� 
�� ���� 
��
 
�� ��	����
��	 ��


�� �	
�������
� ��������� �	� ��)��������
� ���� �	 
�� ��������	�� �� ��
���
���
��

��
�*��/ �� ����� ��
 
��� �
��� *� ���
 �,
�	� 
�� �� ����� �� ����
��	 !A/ %
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1

������ B/ 2 ��	
��� �� ��
���
���
�� ���	
 *�
� ��)������� ����
��	 �	� �	
�������
�
��	����
��	/ ���� �������	
�
��	 ������� 
�� ���� ������-���� ���
�� �� ���
��
!B/ %/


� �	����� ��)��������
� �� 
�� �	
�������
� �������� ����
��	 �	� ��	����
��	 ��


�� �	
�������
� ��
�����
�/ 8�
�� �	 
��� ����
�� *� ���
��� �,��	� 
��� ����� 
�

�	�������
� ����� ����	� �� �	
�������
� !��)�������% ����
��	�/ ��� �������� ����
��	�


��
 �������� 
�� �,
�	��� �� ����� ��� ��)�	 ��

u+ ay ⇀f x �gx

hy
(a+ b) y

x ⇀dx ϕ y ⇀gy ϕ.

7� ��	����� 
�� ���� a = b = 1 *�
� 
�� ��������	��	� ?�3

ẋ = f(y) − gx(x) + hy(y) − dx(x)

ẏ = 2gx(x) − 2hy(y) − f(y)− gy(y),
!B/ %

��� x, y ≥ 0 �	� *���� gx� gy� hy� dx ��� ��	
�	����� ��	�
�	� �	������	� ��	�
��	��

*�
� gx(0) = gy(0) = dx(0) = hy(0) = 0 �	� f(y) = V yq

1+γyh / �	 
�� �����*�	� ���
��	�


�� 
���� �	� ����� ��)������ �	 ����
�� � �	� A ��� ������� 
� 
�� �	������ �� 
��

����� ��)�	 �� !B/ %/

)�� ������� �� ��� #
�	��
��
� $� 	�

��� ����� !B/ % ��	 �� )��*�� �� ��
��
 �������+ ��	
��� �� �	 ��
���
���
�� ���	


�� ���*	 �	 ������ B/ / ���
�������� �� � �,�� ���	
 (x0, y0) � (0, 0) �� !B/ % �,��
��



   

������ B/�2 4��
�� !B/�% �	 ��
��
 �������+ ��	
��� ����/


��	 *�
���
 ���� �� ��	�����
� 
�� ���
�� ��	 �� �������� ���� 
��
 y0 = 1/ ���	 ��

*� ���	�

V0 := f(1) = V
1+γ

ĥ := γ
γ+1

h

kx := ∂
∂x
gx(x)|x0 ηx := ∂

∂x
dx(x)|x0

ky := ∂
∂y
gy(y)|1 ry := ∂

∂y
hy(y)|1


�� ��	����� 	��� 
��� �,�� ���	
 ��� ��)�	 �� 
�� ��	��� ���
��

⎡
⎣ ẋ

ẏ

⎤
⎦ =

⎡
⎣ −kx − ηx V0(q − ĥ) + ry

2kx −V0(q − ĥ) − 2ry − ky

⎤
⎦
⎡
⎣ x

y

⎤
⎦ . !B/�%

���� ���
�� �� �������	
�� �� 
�� �����*�	� �
�
� ����� �
�	���� ��
��
 ��	��� ����-

���+ ����6

ẋ = Ax +Bu

z = Cx

u = −ĥCx

*����

A =

⎡
⎣ −kx − ηx V0q − ry

2kx −V0q − 2ry − ky

⎤
⎦

B = V0

⎡
⎣ 1

−1

⎤
⎦

C =
[

0 1
]
.



  �

��� ��������	��	� ������	�� �����	 �������
��	 �� ���*	 �	 ������ B/� *�
� P (s) =

C (sI − A)−1B �	� �������+ ���	 ĥ/ �	 
�� 	�,
 ���
��	 *� ��� 
��� �������
��	 
�

���
 �
��� 
�� ���� �� ��)��������
� �	� 
��	 
� �	)��
���
� 
�� ���� �� �	
�������
�

��	����
��	 �	 
�� ��������	�� �� 
�� ��
�*��/ 7� ��� �	
����
�� �	 ��* *��� 
��

��
�*�� ���	
��	� 
�� ��	��	
��
��	 �� 
�� ��
��
 y �
 
�� ������� �
���� �
�
� y0/

"���	 	������(�	� 
�� ��	��	
��
��	 �
 y0 = 1� ��+�� � ���������	 �� 
�� ��;���	



��������� ��������/

%���� �&���� 
) *�.����!
� *�����
��

�� �	 3���
��	 !B/ % *� ������ 
��
 
���� �� 	� ��	����
��	 �� �	
�������
� ��
���-

��
� x !dx(x) = 0% �	� ��	����� 
�� ���� a = b = 1� 
��	 
�� �����
�	� ?�3 ��

ẋ = V yq

1+γyh − gx(x) + hy(y)

ẏ = 2gx(x) − 2hy(y) − V yq

1+γyh − gy(y).

4������ 
� 3���
��	 !A/ % 
�� �,�� ���	
� ��� ���	� �� ���)�	� f(y0) = gy(y0)� x =

g−1 (f(y0) + h(y0))/ �� *� ����	 ��
 y0 = 1 
��	 
�� ��	����(�
��	 ����	� 
�� �,��

���	
 (x0, 1) �� ��)�	 ��

⎡
⎣ ẋ

ẏ

⎤
⎦ =

⎡
⎣ −kx V0(q − ĥ) + ry

2kx −V0(q − ĥ) − 2ry − ky

⎤
⎦
⎡
⎣ x

y

⎤
⎦ . !B/A%

3���
��	 !B/A% ���*� 
��
 
�� �,�� ���	
 �� �
���� ���

q − 1

V0

ky < ĥ < q +
1

V0

(kx + ky + 2ry) ,

�	� �� 
�� �����	�� �� 
�� ��)������� ����
��	� �	������� 
�� ��	�� �� �
���� ���	� ĥ/

���� ������
� 
��
 
�� ��)������� ����
��	� ��+� 
�� ��
�*�� ������ 
� ��	
���/ �����



  A

�� �
��� � �0
 (��� �
 s = kx ��	��

P (s) = C (sI − A)−1B

= −V0
s−kx

pA(s)
.

*���� ������� 
��
 
�� ������� ���� !�/$% �� 
�� '��� ��	��
�)�
� �	
����� ����� ��� 
���

���
��/ 0�*�)��� ������� 
�� ��	�� �� 
�� �
���� ���	� �� ������ ��� ������ ��)�������

����
��	 !��% ��
��� 
�� ���� �������+ ���	 �� ���� K�����
L/ ���� ������
� 
��


���
��� *�
� ������ �� ��
�� ��)� ��

�� ��������	�� !�/�/� ������� ���+ �	 
��

log |S|� �	� ������� �������
��	� �	 
�� �
�� �����	��� ������ B/A " �	� '%/ �
 ����

���	� 
��
 ������ ���	� ��	 �� ���� ��� ���
��� *�
� ���� �� ��
�� 
� ��
��	 ��

��

��������	�� �
 ��* ������	���� �	� ��

�� �
���� �
�
� ����� *�
���
 � ���	�	����

�	������ �	 ��������	�� ������ �
 ���� ������	���� �	� �����
�
�)��� ������� �������
��	�

�	 
�� �
�� �����	��� �� ���*	 �	 ������ B/A � �	� �/

%���� �&���� 
) ��� $
�������
� 
) +������������

"����� 
��
 
���� ��� 	� ��)������� ����
��	� �	 
�� ���
�� !B/ %� �/�/� hy(y) = 0� 
��	


�� ��������	��	� ?�3 ��� a = b = 1 ��

ẋ = V yq

1+γyh − gx(x) − dx(x)

ẏ = 2gx(x) − V yq

1+γyh − gy(y).

D�
��� 
��
 �
 � �,�� ���	
 (x0, y0)

dx(x0) − gx(x0) = − (hy(y0) + gy(y0)) ,

�� � �,�� ���	
 (x0, y0) � (0, 0) �,��
� �	�� �� dx(x0) < gx(x0)� �/�/� 
�� ��
�*�� ��		�


����* ���� �	
�������
� ��
�����
� ��	����
��	 �� �
��� ��
�*��� 
��	 �
 �� ���	�/

�� � �,�� ���	
 (x0, y0) � (0, 0) �,��
�� 
��	 *�
���
 ���� �� ��	�����
� *� ��	 ����	
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D

������ B/A2 ��� ��������	�� �� 
���� �� ������ *�
� kx = 1, q = 2, ky = 1, V0 =

1 �	� ry = 2, 1, 0 �� ��������/ !"%-!'% 9��	� 
�� ���� �������+ ���	 ĥ = 3.5
� 
�� ���
��� *�
� ������ ��)������� ����
��	 !��% ��
�� ��)� ��

�� ��������	��
!�/�/� ������� ���+ �	 log |S|� �	� ������� �������
��	� �	 
�� �
�� �����	��%/ !�%-!�%
1����� *�
� ������ ��)������� ����
��	 ��
�� ����* ��� ������ �
�����(�	� ���	�/ 9��	�
ĥ = 7.5, 5.5, 3.5 ������
�)���� *� ��
��	 ��

�� ��������	�� �
 ��* ������	���� �	�
��

�� �
���� �
�
� ����� !*�
���
 � ���	�	���� �	������ �	 ��������	�� ������ �
 ����
������	���� �	� �����
�
�)��� ������� �������
��	� �	 
�� �
�� �����	��% ��� 
�� ���
���
*�
� ������ �� ��
��/
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B

������ B/@2 
�������	�� �� 
���� �� ������ *�
� kx = 1, q = 2, ky = 1, �	� ηx = βkx
*�
� β = 0, 1

3
, 2

3
�� ��������/ 9��	� 
�� ���� �������+ ���	 ĥ = 3 � 
�� ���
��� *�
�

���� ��	����
��	 �� �	
�������
�� ��)� ��

�� ��������	��� *���� ��������	�� 
� �
������� ���+ �	 log |S| ���
� �	� ���� �������
��	� �	 
�� �
�� �����	��/

��
 y0 = 1 �	� 
�� ��	����(�
��	 ����	� 
�� �,�� ���	
 (x0, 1) �� ��)�	 ��

⎡
⎣ ẋ

ẏ

⎤
⎦ =

⎡
⎣ −kx − ηx V0(q − ĥ)

2kx −V0(q − ĥ) − ky

⎤
⎦
⎡
⎣ x

y

⎤
⎦ . !B/@%

��� ���	
 (x0, 1) �� �
���� ���

q − 1

V0
ky
kx + ηx
kx − ηx

< ĥ < q +
1

V0
(kx + ky + ηx)

�	�� �� �
 ��	 �� ���*	 
��
 �
 �� ���	-���� !ĥ = 0% �
���� *��	 ηx �� ����� �	����


� kx/ D�
��� 
��
 ηx ��		�
 �� ������ 
��	 kx� ��	�� ��� δ := ηx − kx > 0 �	�

δ < ky
ηx+kx

ηx+kx+ky
� 
�� ���
�� �� 	�
 �
�����(����/

9	��� 
�� ���)� ��	��
��	�� 
�� ��	����
��	 �� 
�� �	
�������
� �	������� 
��

��	�� �� �
���� ���	� ĥ/ 4������ 
� 
�� �� ����� 
��� ������
� 
��
 
�� ��	����
��	

�� 
�� �	
�������
� ����
 ��+� 
�� ��
�*�� ������ 
� ��	
���/ 0�*�)��� 
�� ���	


��� � �0
 (��� �
 s = kx − ηx ��	��

P (s) = C (sI − A)−1B

= −V0
s−kx+ηx

pA(s)
,



  >

*���� ������� 
��
 �� ηx �	������� 
�� ���	�
��� �� 
�� �0
 (��� ��
� �������� *����

��
� ������ ��	�
���	� �	 ��������	��/ �
 ������� 
��
 
��� �� �	�
��� ��������	��


�����; �	� �
 �� 	�
 ����� *��
��� �� 	�
 
�� ��	����
��	 �� �	
�������
�� ����� 
��

��������	�� �� 
�� ���
��/

7� ��	 ���
��� �	)��
���
� 
�� �;��
 �� 
�� �	
�������
� ��	����
��	 �	 
��

���
�� �� ���	�	� m(x) := gx(x)+dx(x) �	� α(x) ���� 
��
 d(x) = α(x)m(x) *����

�����
� �	 � ���
�� �� 
�� ����6

ẋ = V yq

1+γyh −m(x)

ẏ = (2 − α(x))m(x) − V yq

1+γyh − gy(y).

����� ����
��	� ���* 
��
 ��	����
��	 �� �	
�������
�� ��� 
�� ���� �;��
 �� ��-

����	� 
�� �=���	�� �� 
�� ��
�*��/ ��� �,������ �� gx(x) = kx �	� dx(x) = βkx�


��	 α = β
β−1

�	� 
��� ��
�*�� �� ����)���	
 
� � ��
�*�� *�
� gx(x) = (1 + β)kx


��
 �������� (2 − α) ��������� �� y ��� ���� �������� y �	)��
��/ "� ������ B/@

���*�� ������ β ����� 
� � ������ ����� ���� ��� ���� ��������	�� �
 ��* ������	����

�	� ���� �������
��	� ��� 
�� ���� �
���� �
�
� �����/

)�% ����
�	
� ��
�
��	�
3
�
�� ��� ��	 1.�	� 	 �#

$� 	�

��� ������ 	�	��	��� ������
����
��� �� 
�� �� ���
�� �� 3���
��	 !A/ % ��� �������


� 
�� ���� *�
� 	� �� �� ��	����
��	 �� �	
�������
�� ��������� �� ���
�� !A/ %

�	 ����
�� A/ �	 ����
��	 
�� ����
�)� ��
��	
 �����	� �	)����	
 *�
� ������
 
� 
��

H�* �� !B/ % ��	��

x = 0 ⇒ ẋ =
V yq

1 + γyh
+ gy(y) > 0, ��� y > 0

y = 0 ⇒ ẏ = 2gx(x) > 0, ��� x > 0.



  C

0

1

2

3

0
2

4
6

8
10

0

0.5

1

 

k
x

Normalized Radius of RoA
2D Model with RR        
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������ B/B2 ��� 	������(�� ������ �� 
�� �	)����	
 �����
 �� �����	 �� �

���
��	
!��"% ��� 
�� 	���	�� �����
�	� ���	
 ��� � �� ���
��� *�
� ��)������� ����
��	�
!��%� �����
�� ���	� ����	� ������ ����	����� 8����	�) ��	�
��	� !gx(x) = kxx�
hy(y) = kxy� q = 1� gy(y) = y� dx(x) = 0%/ ��� 	������(�� ������ �� ��" �� 
��
������ �� ��" ��
���
� 	������(�� �� 
�� ���
�	�� 
� 
�� 	�����
 �,�� ���	
/

"��� �	��� ���� ������� ���� ������
��	�� �	 �	������ �� 8���� A/ ����� �� *����

*���� ������� 
��
 
�� 
��J��
����� �� !B/ % ��� ���	���/

9��	� 
�� ���� ��
���(�
��	-����� �������
��	 �� �	 4��
��	 A/A� *� ��	 �����
�

�	)����	
 �����
� �� 
�� �����	 �� �

���
��	 ��� ���� �� 
�� �,�� ���	
�/ ������ B/B

���*� 
��
 ��� ���
 ������
�� )������ ����� �	)����	
 �����
� �� �����	 �� �

���
��	

��	 ����	 �� )������ ���	� ����	� ������ ����	����� 8����	�) ��	�
��	�/ 4������


� 
�� ���� *�
� ����)������� ����
��	� !3���
��	 !A/ %%� 
�� ���
��� *�
� ������
��

)����� ����� 
� 
�� ������
�� �
�����
� ���	���� ��� ������ 
� )�����/ ���� ���)����

���
��� �)���	�� 
��
 
�� �����)�
��	 �� ����
�� A 
��
 �����
 �����(�
��	 ��)� ������

������ !�/�/� ��* ������ ����	����� 8����	�) ��	�
��	� ��	 )����� ����� �	)����	


�����
 �� �����	 �� �

���
��	% �� � ������
� �� 
���� ��
���
���
�� ��
�*���/



  #

)�& '
��	� #
�	��
��
� $� 	� �� �����
�
���
� �
��4

�
�� �
�� 0	5	��
!�	 0	
��
��� 
� �������4

�
�� �� "��	��	 

�	�

�	 
��� ���
��	 *� �����	� 
�� ����� �� 4��
��	 B/� 
� �	���(� � ��	���� ��
���
���
��

��
������ ��
�*�� �������� �� ��
� ��)������� ����
��	� �	� ��	����
��	 �� �	
��-

�����
� ��
�����
��/ ��� �������� ����
��	� 
��
 �������� 
��� ��	���� ��
�*�� ���

��)�	 ��

u+ ay ⇀f x1 �g1
h2

x2 �g2
h3

· · · �gn−1

hn
xn �gn

hy
(a+ b) y ⇀gy ϕ

�d1 �d2 �dn

ϕ ϕ ϕ

7� ��	����� 
�� ���� *���� a = b = 1 *�
� 
�� ��������	��	� ?�3 ��)�	 ��

ẋ1 = f(y) + h2(x2) − g1(x1) − d1(x1)

ẋ2 = g1(x1) + h3(x3) − g2(x2) − h2(x2) − d2(x2)
///

///
///

ẋn−1 = gn−2(xn−2) + hn(xn) − gn−1(xn−1) − hn−1(xn−1) − dn(xn−1)

ẋn = gn−1(xn−1) + hy(y) − gn(xn) − hn(xn) − dn(xn)

ẏ = 2gn(xn) − f(y) − 2hy(y) − gy(y),

!B/B%

��� xi ≥ 0� y ≥ 0� �	� *���� f(y) = V yq

1+γyh �	� ��� ��� i� gi� hi� di� gy� hy ��� ��	
�	�����

��	�
�	� �	������	� ��	�
��	� 
��
 
�+� 
�� )���� 0 �
 0/

%���� ��������� 
) ��� ����� #
���

0��� *� �����	
 � 	�������� ��	��
��	� ��� 
�� �,��
�	�� �� � 	�	(��� �,�� ���	
 �	�

���)��� � ����������
�� �	
�����
�
��	 ��� 
��� ��	��
��	/ 8�
 hy = 0� hi = 0 ��� ���

i = 1, . . . n� �/�/� 	� ��)������� ����
��	�/ "����� 
��
 
�� �,�� ���	
 (x̄, ȳ) � (0, 0)



  $

�,��
�� 
��	

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

f(ȳ) = g1(x̄1) + d1(x̄1)

g1(x̄2) = g2(x̄2) + d2(x̄2)
///

gn−1(x̄n−1) = gn(x̄n) + dn(x̄n)

2gn(x̄n) = f(ȳ) + gy(ȳ)

⇒
(
2
∏n

i=1
gi(x̄i)

gi(x̄i)+di(x̄i)
− 1
)
f(ȳ) = gy(ȳ).

���� ������� 
��
 
�� �,�� ���	
 (x̄, ȳ) � (0, 0) �,��
� �	�� ��

2
n∏
i=1

pi(x̄i) − 1 > 0 !B/>%

*���� pi(x̄i) := gi(x̄i)
gi(x̄i)+di(x̄i)

/ 7� ��	 
��	+ �� pi(x̄i) �� 
�� ���������
� 
��
 � ��������

xi *��� ��	
�	�� 
� 
�� 	�,
 �
�� �� 
�� ��
�*�� !�/�/� *��� �� ��	)��
�� �	
� xi+1%�

�	� 1 − pi(x̄i) = di(x̄i)
gi(x̄i)+di(x̄i)


�� ���������
� 
��
 �
 *��� �� ���� �� �	�
��� ��
�*��/

���	 
�� ���������
� 
��
 � �������� x1 !�������� �� 
�� ���
 ����
��	 
������ 
��

�	)��
��	
 �� 1 �������� �� y% *��� ��
���
��� �� ��	)��
�� �	
� 2 ��������� �� y �	�

	�
 �� ���� �� �
��� ��
�*��� �� ��)�	 ��
∏n

i=1 pi(x̄i)/ 4� ��� ���� �	)��
��	
 �� 1

�������� �� y �
 
�� �
��
� 
�� ��
�*�� �,���
� � ��
��	 �� Ep [y] = 2 (
∏n

i=1 pi(x̄i))

��������� �� y �
 
�� �	�/

��	��
��	 !B/>% �
�
�� 
��
 ��� � �,�� ���	
 
� �,��
� 
�� �,���
�� ��
��	 Ep [y]

������ �,���� 
�� )���� �� 
�� �	)��
��	
� �/�/� ���� �������� y �	)��
�� ���
 �������

�
 ����
 �	� �������� �� y !Ep [y] > 1%/ 4� �	 ����� ��� 
�� ��
�*�� 
� ��)� � �
����

�����
�	� �,�� ���	
 �
 ���
 	�
 ����* �,�����)� ��	����
��	 �� 
�� �	
�������
�

��
�����
��/ ��� �,������ ��
 di(xi) = αigi(xi)� 
��	 ��	��
��	 !B/>% �������

n∏
i=1

1

1 + αi
>

1

2
.

�� αi = α ��� ��� i = 1, . . . , n 
��	 α < n
√

2 − 1/ 4� ��� � ��
�*�� �� ��(� 10� α ��� 
�

�� ���� 
��	 0.072� �/�/� �	�� � ����� �����	
��� �� 
�� �	
�������
� ��
�����
�� ��	



 ��

�� ��	����� �
 ���� �
��/

(����� '.�/ ,� ���
� �
� 
���
����� 
��	������ �� 	�� ��� � ������
 	�������� �� !B/>%

�� 	������
��� ��� B��� *��C gi(xi) − hi+1(xi+1) ��
���� ��� ������� 

%���� /��!�
��� 
) ��� ����� #
���

�� � 	�	(��� �,�� ���	
 (x̄, ȳ) � (0, 0) �� !B/B% �,��
�� 
��	 *�
���
 ���� �� ��	�����
�

*� ��	 ��
 ȳ = 1/ ��
 ��� 
��� �� ��� 	�����
 �� ���� ������ ȳ = 1/ �� ĥ := γ
γ+1

h� �	�

V0 := f(1) = V
1+γ

ri := ∂
∂xi
hi(xi)|x̄

ki := ∂
∂xi
gi(xi)|x̄ ηi := ∂

∂xi
di(xi)|x̄

ky := ∂
∂y
gy(yi)|1 ry := ∂

∂y
hy(y)|1,


��	 
�� ��	����� �� !B/B% 	��� 
�� �,�� ���	
 ��� ��)�	 �� 
�� �����*�	� ��	���

���
�� ⎡
⎣ ẋ

ẏ

⎤
⎦ = J

⎡
⎣ x

y

⎤
⎦ !B/C%

��� x ∈ R
n� y ∈ R �	� *����

J :=

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

−m1 r2 0 · · · 0 0 V0(q − ĥ)

k1 −m2 r3 0 0 0

0 k2 −m3
/ / / 0 0 0

/ / / / / /
///

0 0 0 −mn−1 rn 0

0 0 0 kn−1 −mn ry

0 0 0 · · · 0 2kn −ky − V0(q − ĥ) − 2ry

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

,

�	� ��� ��� i� mi := ki + ri + ηi� r1 := 0/ D�
��� 
��
 ��� �� 
�� ������
�� �	 J ���

	�	-	���
�)� �	� ki ��� �
���
�� ����
�)�/ ���� ����*� �� 
� ���)� 
��
 
�� �����*�	�

�	������ 
� 
������
��	 @/� ����� ��� 
��� ���� ��	���� ��
�*��/

 ����
����� '.�/ ��� "�� ĥr := q + 1
3
ky

V0
��� ĥs := q − ky

V0
 ,� ĥs < ĥ ≤ ĥr� ����



 � 

!B/C% �� ������ ��
 �
���
�
� ���� �n� ��� �
���
�
� ������ �� ����
������� 
��	���� 
����

�ki�ηi�ri� ry� 

��� ��� ������ ����� �
� ������ � � ��
 ��� ���� ĥ /∈
(
ĥs, ĥr

]
� ���
� �!���� ��

�������� ������� 

������ !�% ���	�

D := ���� {η1, . . . , ηn, 0} 
 0

J0 := J −D

�	�

Q0 :=

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

−k1 r2 0 · · · 0 2V0(q − ĥ)

k1 −k2 − r2 r3 0 0

0 k2 −k3 − r3 0 0
///

/ / / / / /

0 0 0 −kn − rn 2ry

0 0 0 kn −ky − V0(q − ĥ) − 2ry

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
,


��	

J0 =

⎡
⎣ In 0

0 2

⎤
⎦Q0

⎡
⎣ In 0

0 2

⎤
⎦

−1

,

��	�����	
�� J0 ��� 
�� ���� ����	)����� �� Q0/ "��� �� ����	� ��� �� 
�� �������	�

��*� 
� ��* i �� Q0 �	� ��	 ������ �����
� 
�� ��
����	�	
 �� Q0 ��

detQ0 = (−1)n+1 k1

n∏
i=2

(ki + ri)
(
ky − V0(q − ĥ)

)
.

��	�����	
�� �� ĥ �= q − ky

V0
= ĥs� 
��	 detQ0 �= 0� �	� ���	� �����	�� ����	�	�� *�

��	 ��	����� 
��
 ��� ĥs < ĥ ≤ ĥr� Q0 �� 0��*�
(� �	� 
�������� J0 �� 0��*�
(/ ����

���	� 
��
 
���� �,��
� � ��
��, P � 0 ���� 
��


JT0 P + PJ0 = −In+1



 ��

F��G/ ���	

JTP + PJ = (J0 −D)T P + P (J0 −D)

= JT0 P + PJ0 −DTP − PD

= −In+1 − (DTP + PD)

'�
 DTP + PD 
 0 ��	�� P � 0� D 
 0 �	� D �� �����	��� ��

JTP + PJ ≺ 0

�	� 
�������� J �� 0��*�
( ��� ĥs < ĥ ≤ ĥr� �	� !B/C% �� �
����/

!�% ���� �����*� ���� �����
 �������
��	 �� 
������
��	 @/� *�
� ry = 0� ηi = 0� ri = 0

��� ��� i/ �

)�) ������
�
��
� ��
���
�

7� ���*�� �	 4��
��	 B/A 
��
 *� ��	 ��� ��
���(�
��	-����� �������
��	� 
� �����
�

�	)����	
 �����
� �� 
�� �����	� �� �

���
��	 �� 
�� �,�� ���	
� ��� 
�� �� )�����	

�� !B/B%/ 0�*�)��� �� 
�� ����	���	 �� 
�� ��
�*�� ���*�� 
�� ��������	��	� 4?4

�������� ������ �������
�)��� �����/ �� ��������
� 
��� �;��
 *� ������� � �����-

����
��	 ������ ��� ���� ����	���	�� �������� 
��
 �� ������� 
� 
�� ���������
��	

�� ����
�� @/ ���� ��
��� 
�+�� ��)�	
��� �� 
�� �
���
��� �� 
�� ��
�*�� �	� 
���

����
�� �	 4?4 ������� 
��
 �� �����
�
��	���� 
���
���� ��� ����� �����
� �� 
��

������
�� �����/

�� ����	 
�� ��������� *� ������� � ���	�� �� ������	�
�� ��� !B/B% �� 
��



�� �,�� ���	
 �� �	
����
� (x̄, 1)� �� �
 
�� �����	/ "� ������� ��� �� 
�� ��	�
��	�

gi, hi, di, gy, hy, f ��� J��
 ����
�� )�����	� �� 
������)��/ "�
�� ��������	� *� ��


ẋ = F (x) +B

⎡
⎣ f(y)

r(y)

⎤
⎦

ẏ = 2gn(xn) − 2hy(y) − f(y) − gy(y)

!B/#%



 �A

*���� x ∈ R
n, y ∈ R�

F (x) =

⎡
⎢⎢⎢⎢⎢⎢⎣

h2(x2) − g1(x1) − d1(x1)

g1(x1) + h3(x3) − g2(x2) − h2(x2) − d2(x2)
///

gn−1(xn−1) + hy(y) − gn(xn) − hn(xn) − dn(xn)

⎤
⎥⎥⎥⎥⎥⎥⎦
,

B =

⎡
⎣ 1 0 · · · 0 0

0 0 · · · 0 1

⎤
⎦
T

,

��� ��� i� gi� hi� di� gy� hy ��� ��	
�	����� ��	�
�	� �	������	� ��	�
��	� �	� 
�+� 
��

)���� 0 �
 0� �	�

f(y) =
V (y + 1)q

1 + γ(y + 1)h
− V

1 + γ
.

4��
�� !B/#% ��	 �� ���������� �	
� 
�� �������+ �	
����		��
��	 �� 
*� ���
��� S1

�	� S2/ 4��
�� S1 �� � L������L n-����	���	�� �	��
-��
��
 ���
�� ���	�� ��

ẋ = F (x) +Bz

w = gn(xn)

*���� x ∈ R
n, z ∈ R

2/ 4��
�� S2 �� � �	� ����	���	�� 	�	��	��� �	��
-��
��
 ���
��


��
 ���
���� 
�� ���
 �����
�	
 	�	��	����
� �	� ��� 
�� ����

ẏ = 2w − 2hy(y) − f(y) − gy(y)

z =

⎡
⎣ f(y)

hy(y)

⎤
⎦

*���� y ∈ R/

�� �	� ��	������ 
�� ������ ��
� ρ : R
3 → R� ������
��(�� �� δ1� δ2�κ1� �	� κ2

ρ(w, z1, z2) := w2 − 2δ1wz1 − 2δ2wz2 − κ1z
2
1 − κ2z

2
2



 �@

�	� ���	��

C1(δ1, δ2) := 2δ1σ − 2δ2c2 + (2c2 − σ + c1)

C2(δ1, δ2, κ1, κ2) := c21 + 4c1c2 + 4c22 − 2c1σ − 4c2σ + σ2

−4κ1σ
2 − 4κ2c

2
2

+4δ1 (c1σ + 2c2σ − σ2)

+4δ2 (c2σ − 2c22 − c1c2)

v1(y) := 2 (δ1f(y) + δ2hy(y)) − (2hy(y) + f(y) + gy(y))

v0(y) := (δ1f(y) + δ2hy(y))
2 + κ1f

2(y) + κ2r
2
y(y)

*���� c1 = ky, c2 = ry �	� κ1, κ2 > 0� 
��	 �	� ��
��	� 
�� �����*�	� ������/

����� '.�/ ��� ���
� �!���� � �������� �������
���� N0 �� ��� �
���� ��� � �����

���� ��)���� ���	���� U2 : R → R �� N0� ��	� ���� ��
 ��� �����
� y ∈ N0 ��� w ∈ R�

U2(y) > 0 ���

∂U2

∂y
(2w − 2hy(y) − f(y)− gy(y)) < ρ(w, f(y), hy(y)) !B/$%

�� ��� ���� ��

C1(δ1, δ2) > 0, ��� C2(δ1, δ2, κ1, κ2) > 0 !B/ �%

��� 2�)��

U2(y) := −
∫ y

0

1

2
v1(ξ)dξ !B/  %

���

Dy :=
{
y ∈ R | − v1(y)y > 0 ��� v2

1(y) − 4v0(y) > 0
}
. !B/ �%

,� ���%������ !B/ �% �� �����)��� ���� ���
� �!���� � �������� �������
���� N0 �� ���

�
����� N0 ⊂ Dy

⋃{0} ��	� ���� U2 �� �������� ��)���� �� N0 ��� ��
 ��� �����
�

y ∈ N0 ��� w ∈ R� U2 �����)�� !B/$% 



 �B

������ !�% 8�


M1(y, w) :=
∂U2

∂y
(2w − 2hy(y) − f(y) − gy(y)) − ρ(w, f(y), hy(y))


��	

M1(y, w) = ∂U2

∂y
(2w − 2hy(y) − f(y) − gy(y))

−w2 + 2δ1wf(y) + 2δ2why(y) + κ1f
2(y) + κ2r

2
y(y)

= −
(
w −

(
∂U2

∂y
+ δ1f(y) + δ2hy(y)

))2

+
(
∂U2

∂y
+ δ1f(y) + δ2hy(y)

)2

−∂U2

∂y
(2hy(y) + f(y) + gy(y)) + κ1f

2(y) + κ2r
2
y(y)

8�


M2(y) :=
(
∂U2

∂y
+ δ1f(y) + δ2hy(y)

)2

−∂U2

∂y
(2hy(y) + f(y) + gy(y)) + κ1f

2(y) + κ2r
2
y(y)

=
(
∂U2

∂y

)2

+ v1(y)
∂U2

∂y
+ v0(y).

D�
��� 
��

∂

∂y
v1(y)|0 = −C1 (δ1, δ2)

��� ���
 ����� 
��� �� 
�� ������ �,��	���	 ��M2(y) �� 0/ 8�
 
�� ����	� ����� 
���

�	 
�� �,��	���	 �� M3 �	�

p := ∂2U2

∂y2
|0 a0 := ∂2v0

∂y2
|0


��	

1
2
M3 = p2 − C1 (δ1, δ2) p+ a0,

*���� a0 := (δ1σ + δ2c2)
2 + κ1σ

2 + κ2c
2
2 > 0/ D�
��� 
��


C2(δ1, δ2, κ1, κ2) = (C1 (δ1, δ2))
2 − 4a0.

⇒ �����
��	2

"����� ���� U2 �,��
�/ 7� *��� ���* 
��
 �� ��
��� C2 ≤ 0 �� C1 ≤ 0 
��	 
���� �� 	�

	�	���
� 	����������� �� 
�� �����	 *���� U2 �� ����
�)� ���	�
� �	� ��
����� !B/$%/



 �>

�� C2(δ1, δ2, κ1, κ2) ≤ 0 
��	 M3 ≥ 0 �	� �	 �)��� 	����������� �� 
�� �����	� 
����

�,��
� � y0 �= 0 ���� 
��
 M2(y0) ≥ 0� �	� ��� w =
(
∂U2

∂y
+ δ1f(y0) + δ2hy(y0)

)
�

M1 ≥ 0/

�� C2(δ1, δ2, κ1, κ2) > 0 �	� C1 (δ1, δ2) ≤ 0� 
��	 
�� ���
� �� M3 = 0 ��� 	���
�)� �	�


�������� M3 > 0 ��� ��� p ≥ 0/ 4� �	 �)��� 	����������� �� 
�� �����	� 
���� �,��
� �

y0 �= 0 ���� 
��
 ��
��� M2(y0) ≥ 0 ⇒M1 ≥ 0� �� U2(y0) < 0/

⇐ �����
��	2

�� C2(δ1, δ2, κ1, κ2) > 0 �	� C1 (δ1, δ2) > 0 / 
��+ U2 ���� 
��


∂2U2

∂y2
|0 =

1

2
C1 (δ1, δ2) .

���	 M3 < 0 �	� 
�������� 
���� �,��
� � 	����������� �� 
�� �����	 N0 ���� 
��


��� ��� 	�	(��� y ∈ N0� w ∈ R� U2(y) > 0 �	� M2 < 0 ⇒M1 < 0/

!�% D�
��� 
��
 ��� y ∈ Dy �	� U2(y) ���	�� �� �	 !B/  %� U2(y) > 0 !−v1(y)y > 0 %

�	� M2(y) > 0 ��	��

M2(y) =
1

4
v2

1(y) −
1

2
v2

1(y) + v0(y) = −1

4
v2

1(y) + v0(y).

'�


−v1(y) = C1 (δ1, δ2) y
2 +O(y3)

v2
1(y) − 4v0(y) = C2(δ1, δ2, κ1, κ2)y

2 +O(y3) �

�	� 
�������� 
���� �,��
� 	�	���
� 	����������� �� 
�� �����	 N0 ⊂ Dy

⋃{0}/

����� '.�/ "�� U1 : R
n → R �� � �������� �� ��� ��������� -;- ����������� �
�����

U1(x) �� -;-

−∂U1

∂x
(F (x) +Bz) − ρ(gn(xn), z1, z2) �� -;-

C1(δ1, δ2) �� -;-

C2(δ1, δ2, κ1, κ2) �� -;-

κ1, κ2 > 0.
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������ B/>2 ��� ���
���
��	� C1(δ1, δ2) > 0� C2(δ1, δ2, κ1, κ2) > 0 ������� �	 
��
������ ������
���� �����
 �	 ���
�� ��	��
��	� ��� f �	 3,����� B/ / �	 
��� ����
U̇(x, y) < 0 ��� (x, y) ∈ R

n ×Dy *���� Dy �� 
�� ��
 �� ���	
� y ��� *���� 
�� �����
�� f ���� �	 
�� ���� ��
*��	 
�� ��	�� l1(y) = 0.0971y �	� l2(y) = −0.5464y/

���� ��
 U2 ��)��� �� �� !B/  %� Dy ��)��� �� �� !B/ �%

U(x, y) := U1(x) + U2(y)

���
� �!���� β > 0 ��	� ����

ΩU,β = {(x, y) | U(x, y) < β} ⊂ R
n ×Dy

�� �� ����
���� ������ �� ��� 
����� �� ���
�	���� �� ��� �
���� �� !B/#% 

������ �����
 ��	�����	�� �� 8���� B/ /

(����� '.�/ "���� 0 . ����� �� � ��� �� 	������ � "������� ���	���� ��
 !B/#%

�� ������� !B/ A% -��	� �� �!��	� F (x) �� �� B������C� ��� ���
��� �� -;- ����������

�� ��� -;- �
��
�� !B/ A% �
� �!��	��� �� �� ���� ��� ���� 	�������������� �
�	����� 

01����� '.�/ "�� n = 11� gy(y) = y, hy(y) = y� f(y) = 4(y+1)

1+3(y+1)2
− 1� gi(xi) = 2xi�

hi(xi) = xi� ��� di(xi) = 0 -������ !B/ A% 
���
��

δ1 = 2.2046 δ2 = −0.6424

κ1 = 7.9964 κ2 = 3.6494.



 �#

$����%�������

v1(y) = 2 (δ1f(y) + δ2hy(y)) − (2hy(y) + f(y) + gy(y))

= 3.4093 f(y) − 4.2848 y,

���

U2(y) = 1.0712y2 + 3.4093y + 3.15086− 2.27287 log
(
1 + 3(1 + y)2

)
��� Dy �� ��� ��� �� ������ y ��
 ���	� ��� �
��� �� f ���� �� ��� �
�� ������� ��� �����

l1(y) = 0.0971y ��� l2(y) = −0.5464y �����
� 0 5�� ���	� ����� β = 0.7073 
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��	 ĥd(n)/

��� �
���
��� �� 
�� ���
�� ��������� �� 3���
��	 !B/B% ��������� ����*� ��� ���-

����
��	�� �	������ �� !B/B% ���	� 
�� �������+ �	
����		��
��	 �� 
*� ���
��� �	�

����� �������
��	 �	������
���/ 7� ��� � ������ (n, 1)-���������
��	 
� ���* 
��
 ���

� �����
 �� 
�� ������ *� ��	 �	� 8����	�) ��	�
��	� �� ���)�	� � �����
�
��	-

���� 
���
���� 4?4 ���������
� �������/ ������ >/�� ���*� � ������� �� 
�� ����

�� ��	��	
��
��	 �� ��
���(�	� �	(����� ��
�*�� ��(�� ��	����
��	 �� �	
�������
�

��
�����
��� �	� ��)������� ����
��	� �	 ��
����	�	� 
�� �����
�
��	�� ������,�
� ��


�� ��
�*�� �	� ��* 
��� ���� ����
� 
� ��������	��/

���	��7
 ��� �	)��
���
��	 �� 
�� ��
���
���
�� ��
�*��� ��)���� � ��* ��	����	-


�� ��������	�� 
�����;� *���� ��	 �� ��������� �	 
�� �����*�	� ��		��/

• ?)����� ���� �	���� �=���	�� )�/ ��������	��/ 
�������	�� �	� �
�����
� �� 
��

��
�*�� �����)�� *�
� �	������� �	 
�� ��
���(�	� �	(��� ��	��	
��
��	� !�/�/�

���
�� ����
��	 ��
��%/ 0�*�)�� ���	
��	�	� ���� �	(��� ��	��	
��
��	� �	 
��

���� �� �	����
������ *��
����/

• 1��
�-�������	��� �� 
�� ��
�*�� )�/ ��������	��/ "�
���
���
�� ��
�*���



 A>

Computational
Complexity

low high
Pe

rf
or

m
an

ce
go

od
ba

d

RR

PS

IC
E

C

������ >/�2 ��� �;��
 �� �	������� �	 �	(��� ��	��	
��
��	� !3�%� ��
�*��� ��(� !
4%�
�	
�������
� ��	����
��	� !��%� �	� ��)������� ����
��	� !��% �	 
�� ��������	��
�	� �����
�
��	�� ������,�
� �� 
�� ��
�*���/

���)��� ��	� �� 
���� �	
�������
� ������
� 
� �
��� ��������� �	 
�� ����/ �����

�	
�������
�� ��� ����	
��� 
� 
�� ����� ��*�)�� 
���� ��	����
��	 ������� 
��

�=���	�� �� 
�� ��
�*�� *���� ������ �
� ��������	�� 
� ��;��/

• �����
	��� )�/ ��������	��/ 0����� �������+ ���	� ��	������ ���� 
� ��

��

��������	�� �
 
�� ��* ������	����� ��
 
��� ��+�� 
�� �����
�	� ���	
 ����

�����
 ������� 
���� ���� ���	� ����� �� ����� 
� 
�� �
�����
� ���	����/ �	


��� ���� � ���	�� �	 
�� 	���	�� ������
�� )����� !��� �,����� � ���� �	


�� ��
���(�	� �	(��� ��	��	
��
��	�% ����� ���� 
� �������
��	� �	 
�� "�


��	��	
��
��	 �	� �	�
�����
� �� 
�� �����
�	� ���	
/

• 3)��)�����
� )�/ ��������	��/ ��� �������+ ���	� ������� 
��	 ĥr� 
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